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1.

Unit - | General Science

Scientific Knowledge

What are the characteristics of “rote learning”?
(i) Does not allow the learner to associate himself / herself with the
surroundings.
(i) Infuses rigidity in the thinking process.
(iii) Allows the learner to dynamically adapt to the changes in the

surroundings.
(ivy Improves the questioning ability
a. (iii) only b. (i) only
c. (i), (ii) and (iv) only d. (i) and (ii) only

QUIT(H@HERITTLO6D SBBEVISGMU L NuIe0LSH6T WiTenel?

i. spuaT sHameldF  ampweren  GWGTH  @hEISmenhE  GFwIeOLIL
SIMIDSHILILIFH 60660

ii. dbgHb@ (WBUIL BBIGHIOTET HETMDMU 2 I L|&SHHISHBSI.

iii. sBUMMTE  GHLBHmevsCaBU  CHTLTHEH o HCasnss SHetener LOIBBIS
O meiTen SIS SHBBS

iv. Cxeital Casl @b Hpemer iHsNEHBSH.

a. (iii) oL (BLb b. (i) i B

c. (i), (ii) mmib (iv) L (Bib d. (i) wmmib (ii) i G

Which one of the following is the best anti - dote to superstitious beliefs?
a. Scientific Knowledge

b. Scientific temper

c. Untested and Un-Proven know

d. Strong faith in the long held ideas

Lesteuheusiiaumnlled el BIDLISHmdHEHeHSTer 10S aiflwioTer 1T mHbAH 61517
a. 9lalwed 9miey

b. onflaluied eI ILITHIG

C. IS G 2 LUBSHSLILLTS WwBHBID BHeplldbsllLTs Sinley

d. Pewi &mevlond B(HbaHI QUHLD eTenTenhIGeTe ST HLDLIHmD
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3.

What are the characteristics of “Scientific temper”?
(i) Questioning others ideas irrespective to their social position.
(i) Analyzing other’s opinions.
(iii) Applying logic.
(ivy In view other’s social position, accepting their ideas without
questioning or analyzing them.

a. (i) and (ii) only b. (ii) and (iii) only
c. (iv) only d. (i), (ii) and (iii) only
SINlIUIEd DETILIMRISIET LIGRILIULIEOLSHET WTenel?
i. LoBBeuT6T 6ot &(HHSHIHHM6I SlaTaHerein FePD [HlemeVEmUIL]
QUTHLUGBSHBTIED CHeialldh@)6iTeNTH GG
ii. LoBmeuTaseNT 60T B(HSHBHIHBHEN6NLI LGUUITUI6) OEIIRIESY HTHDHHMSDH
LweTU(BHSHHIIS]

iii. 5755560 LWIETUH S Sl6eUS)
iv. oBpalTHeNel  SHHHDHIHHMEN  DUTHeMeT  Fepd  [HleDeoulledl — SHTJ60ILOTS
Gxpoeitall Gal &MoeID, LUGLUTUWI®| GFLIWTONID gBBIS CHTeTaIS!.
a. (1) wmpud (ii) L GLb b. (ii) wBpib (iii) ot B
c. (iv) L B d. (i), (ii) b (iii) L B

Imagine the following hypothetical situation:

(i) Putting together all the plants of the plant kingdom on the Earth.

(i) Putting together all the animals of the animal kingdom on the Earth.

Thereafter weighing (i) and (ii) separately

a. (i) and (ii) are of same weight b. (i) is heavier than (ii)

c. (ii) is heavier than (i) d. None of the above

LNeiTeu(HLD SHBLIHGTULITET GHlDHlenev GNIHH FbhHobHa|Lb.

(1) wWuled o 6Tem FHTUTHSGBLOUSHE DIMRNHIHISH STOUIRIBMETULID QETBTHE
Gairdam Beuemwr(hLb.

(i) uyuied o eten aleVEGE GBLUSHET DDOTHBH  OT6VHIGBEETULID
aIpTed Ggeds Geuswi(BLb.

Heitenrm (1) wppid (i) pdweuBpien eledLsmend HaNHHaNBL  SHemwresa (B

QUTIDSI:

a. (i) wppd (i) el Suewibo Gy erenLulenens CBTERIY(HESLD.

b. (i) ®e eremL (i) et eTeLeml @l HHBOTSH BHEGSLD.

c. (ii) et et (1) Betit eTeWL oMW AL SHIFBOTH B(HEBGSLD.

d. GuoBsewi slenauud Be06N6V.
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Physics (4 questions)

The reason behind the spectacular brilliance of diamonds and twinkling of
stars is:

a. Total Internal Reflection b. Total external Reflection

c. Partial Reflection d. None of the above

meUTLD SHewienenid Hauf CMTeilliLgBGD, allewIbaIseT WTEIeNSBELD SHMT6mILD:
a. (W 915 aHoFTeiiL b. wap ys eHGgmefi

C. UGF e1gOymerilLiy d. GuBampPluwl sTeneuuld Beven6v.

Assertion (A): Some sea turtles (loggerhead turtles) return to their birth
beach many decades after they were born to nest and lay eggs.

Reason (R): The turtles can perceive variations in magnetic parameters of
Earth which memory helps them in returning to their homeland.

a. (A) is true, (R) is false.

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false (R) is true.

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
MW  FeO HLD YUMISH6T  (UTHTOABL. &HLL SLewID) Diewed  LIMbHS
SLBHmICWITLD L eniBsebiHGl LIBGWL aubsl (WLl ullbBaleimseot.

SHTIEID:  LEDIDH6IT  FHEIFBNH  LIBHS SLBHOTOUISH HewiLBlUl  LaldbSThS
© (HULHSHHED 6TMID  (LPMBMUIS MBWLTEHSH OBl b DUMSH6T LIevGeaump
B mselar  HMHBLILeVIMImU  Henaialled CHTETEHD LBBED 2 ML UIH6).
831 ool FTWEHIBGS FHOUMSBS 2-SNUSBSI-

a. (A) sfl, epemmed (R) seuml

b. (A) wppw (R) @yewiew &f, Gweid (R) eewugs (A) albg sflwmrer
A6 SHLOTGLD.

c. (A) soupl, apemmed (R) g

d. (A) wBp (R) @rewibn &f, semed (R) esiug (A) albeg sfwmer
16T &HLO6VGL.

If a single nail pricks our body, it is very painful. How it is possible for the
people to lie down on a bed of nails and still remain unhurt?

a. Because the area of contact is the same

b. Because the area of contact is less.

c. Because the area of contact is more.

d. None of the above.
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10.

Fpl oLl BIOG 2 Lawevd FHlmenhbGld Gurgl euedenwl o eiTHEBID. SeTTed
fooT  gewil  UBHMBUTID  UBSHITID  DUTHEHSE  6bFHLI  LITSHLILD
gBUBFHe0emeBU — 61liLIg?

a. glleaied SiHeT GGHTH LFLL &FLob

b. gQeefled SIHeST GBHTH LTI Gmma|

C. gllarened SIHeT OHTH LTI DIHSLD

d. Guomampw e1gials0meL

When you go for a ride in a merry-go-round in amusement parks, you will
experience an outward pull as merry-go-round rotates about the vertical
axis. The reason for this is:

a. Centrifugal force b. Centripetal force

c. Straight line force d. Circular force

CuTHICUTSGL  UYhsTaled GHmL  QITaihdHed  &FB@Llursd, Gl
@umiend e OFRGHSH oFmFILBHY b  Gumrgl,  BTD @

CeualCrrdalw  FHamgulled gBUBL Supalmgmuwl o eolTHGBTLD. DIHBBHITE0
HITTC0ID 61GHI7

a. ol alevdg alms b. wiowr CrrdE alens

. GrTBaT_ (B alena d. g alens

Chemistry - (2 Questions)

The element which is a constituent of chlorophyll and gives green colour to
the leaf of plant is:
a. Sodium b. Copper c. Potassium  d. Magnesium

STUTHHAT  DemeLHB6T LIFHF HIBLTS SBHULUSBGHS  STJEIOTET,  HT6UJ S 60r
LFFWLSHHe0 2 eilen o Geumslbd:

a. Gamguib b.gmiyib c. QumLrndflud  d. Gsésetdlub

Silver metal is a white lustrous metal. Over a period of time silver articles
becomes black - why?

a. Carbon dioxide gas in atmosphere reacts with silver to form a black
coating.

b. Hydrogen sulphide gas preserved in atmosphere reacts with silver to
form a black coating.

c. Silver reacts with moisture to form black coating.
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11.

12.

13.

d. Silver reacts with nitrogen to form silver nitride, which is black.

Geueitel, ¢ eellHD GleuewienowiTel 2 BeUTHIOTGD, SHLEITED BT &6 CFe060F
G&evev, GeusiTerllulledt BIBLD SHLILTSH LOTBIGUS! 66017

a. Oeueltell, eualliDeWIL60SHH60D 2 6iTem  HMTUST DL YHMFH  GUTU|R|L 60T
alemer b, SHUIL HBLOTS LOTBISIBSI.

b. Geueitefll, UMW 0HH0 © 6T MABL TG  FeOMUB  GUTUIGL 6T
alemer b, SHUIL HBLOTS LOTBISBSI.

c. Oeuetal, &MBUled o 6ffen  FILILUSSHIL T  alevalL|fibgl, SHLLY  HPBLOTS
OIS B

d. Qeueefl, euaflibewicudhFHed o eiten BTN a1 Caihg  Gleueier
MBLEMILTES TS, SBUL BBHMSH HHES BB

Botany (1 Questions)

Under which category Pencillium does come?

a. Algae b. Fungus c. Protozoa d. Bacteria
SIS HEMIL_UBBIGT GUIFeWID 61hEH UMBMUIF FTTHHHI?
a. undlaelt b. yehewad c. @m GFe =2 uif d. urdiefluwim

Zoology (3 Questions)

Which of the antibody that provides early diagnosis of Dengue and the
virus which causes Dengue is called:
a. I; M and Flavivirius b. I G and Flavivirus

c. I; M and Togavirius d. I; M and Alphavirius
SpHHmILauBpeT OFHTLHS BmeoulGeoBw O miGaleneid SISl 2 e b
ATSHTIOUT[HET LOBWID CLFIGalenaT © 6w ThEGD Meugerd 61517

a. I M oppib enmal  eneuyerd b. I; G wBpib lenmmeal eneuyerd

C. I M iopmib GLiasm  eneuyerd d. I; M oBmitb &60UT  eneugerd

Which disease is transmitted through saliva and respiratory droplets?

a. Mumps b. Measles c. Flu d. Small Pox
abd GCpTmeig o LOWPDHT BEBID &euTd bHiTshdleNsealenmed LFesngl?
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14.

a. uresies@ aimd b, s L ibenip c...uen  d. Hevenbento

Which one of the following is considered as chemical messengers?

a. Enzymes b. Vitamins c. Minerals d. Hormones.
S1pSBTewLImaIH6TNe0 Cougdluluied GFUISHsmen DIILILEITHNMTHS HHBLILIBHISH
6J6or?

a. GETH el b. enaul’ L1Ol6iTse6iT C. 1O6TT60H61T d. emrT@oreiser
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15.

16.

17.

Unit - II Current Events

Science: (2 Questions)

Recently we read in newspapers about the GM crops. What is the full form
of GM?

a. Genetically Marketed b. Genetically Modified

c. Green and Moisturous d. Globally Marketed

Sjewienlouled BTD CFUISHS SHTeTHeled LUNTH6T GHBISHSH LSS HLIGUTLD.

GM aaiugear alfleurdald elesmer?

a. Uyl FHWTS FhHenSLULIBHHBHIHED b. woyugml wrBBrIL

C. LUG6MLD LOBMID FFJLD d. 2_evmemmalul FhHeFLILIGHHIH60

With which of the following is Arunachalam Muruganantham, an Inventor
and Social Entrepreneur associated with?

a. Low cost electrical motor vehicle.

b. Non-stop water motor

c. Low cost sanitary napkin

d. Highly efficient solar batteries

&6t (HLIQUILITENT(HLD, FeLpdH o @HTLH60 (LPEM6OTEEUMT(MHLOT 60T O|(TH6UTTFF6VLD
(PHBTHSLD 6TaTLIeUT Lleiauhd eTeuBmIL 65T OFHTLTLemL WieuT?

a. Goombhd alenev LOGIFT] UTHEUILD

b. Ll moed BT BewBoHEGd SuibH b

C. MBHS alenev AILTUISHTEL DIeD6MTULITENL

d. o wirHser @Gflw W eiseomibe6i

Economics: (3 Questions)

The Nobel Prize (2019) for Economics has been awarded to Dr. Abhijit
Banerjee and two others for their experimental approach to:

a. Eradicate black money

b. Strengthen the International Monetary Fund (IMF)

c. Eradicate gender bias at work place.
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18.

19.

20.

d. Alleviate global poverty.

2019-gu0  spemngent  QuUTHeTTHMISHHBHETer Gpmued ufla Dr. onigdsd umenme)
LBEID  HaUHEHG DUTHNBH 6hH CpHTeumule] SiewiGpenmulet GuUTHL (b
QULDRIGBLUILIL L &H)?

a. BN uewt Lo

b. uete B UewT HHWSHMB QUIIGOLB CFUIHE

C. Gouemev GFUILID B MmFH6Ted LTEY UTGUTL ML L& H60

d. eameusenmailul auplenIDeUI 10U BLILIBSHSHIH60

Which one of the following is not the aim of ‘Digital India’?

a. Paperless governance b. Person less governance

c. Encouraging Intermediaries d. Cashless governance
SIDHEILUBMIT 61 ‘I L 60 @bHwm’ -alet GHTHHBD HievEV?

a. FTHBHD B6060TH I GTHNS b. waHiser Be0e0TdH LEHMD
C. BML HFHTHTHMGN 261G a1 dHH60 d. uenTflevevTs SLEHEMD

Putting money directly into the bank accounts of the poor through
measures like “Jan Dhan Yojana” results in:

a. Depletion of Scarce resources.

b. Demand revival and economic growth through “multiplier effect”

c. Increasing corruption.

d. Maximizing government and minimizing governance.

“oaige HULID GUTEB  BLeUgHmSHeler auruleorsds ChIQUITES  eJenLDS 61T 6ot
AMIBDH HWIHGH6MNe0 LmiHHmensd CFeoead IHBEG aUPNeUGHEGLD?

a. oIMFTen eueMmIGB6T GHmBha GUTaSHBS

b.QumEs almenales eauTuleords BHenau OBIR (HAITHSID BMWILD  GLITIHETTHTY
QUGNTFS] gBLBEUSBS.

C. 2a11p60 HIFHSAILISHBS

d. s oemaleorar QIFTRIGIPD, GOBHS  OETANOTRT  SLEHEBULD
JBLGASBS.

History: (1 Question)
The Tamil film “Asuran” is based on the acclaimed novel “Vekkai”. The
author of the novel “Vekkai” is:
a. Su. Venkatesan b. Konangi c¢. Poomani d. Choodamani
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21.

22.

23.

24.

SO FHeogl uULwTel ‘OIETET USLOUBB  ‘Oeudbms’  aild LFHerHmS
SIQUILIHL WTHS OBTENIL HTGHLD. ‘Ooudbend’ 6D LFHarddler ol
a. 5.0umsCL e b. Garemimid) c. e  d. @Lmoewn

Geography: (3 Questions)
Under which category of roads does the Zojila-Kargil road of India fall?

a. National Highway b. International Highway

c. Border Road d. State Highway
BphsHwmaled o eten Camedeor — SIS0 FTewev ellIlflencusd FTiHHSHI?
a. Gapdlw OBEHEhaFTEmeL b. uestenm’ B GHGEHFTEN6V

C. 6TEVEMGVLILBE  FTEm6V d. iomhlev CBBEHFTEN6L

The Union Government is making efforts to connect the unconnected parts
of the country. What is the name of the airport opened at Sikkim in the yar
2018 as a part of such efforts?

a. Bagdogra b. Pakyong c. Hubli d. Belagavi

BHoUWT DTS BBl EMENISSLILILTSH BT Q6T LGS BN  E6eneuorl LI SH385T 60T
wpwBdlsemen CBOsTEIGBHIBSH. DHSHMBW 6(H BLEIGHMBUITES 2018 SHYIb
el FeHHINled HMSHSULLL DT HlenevuldHdHer GILIUIT eTedrenr?

a. unsGLTeym b. uméGuinr c. a°ier] d. Quevaral

The “Green-Gold” Mission of Government of India is associated with the
promotion of which one of the following?

a. Herbal plants b. Green Vegetables

c. Bamboo d. Green Crops

SPHMILUBDIET GBhH  OFHer  ‘UFMFH SHHGD 6D FHLLD  eTHMe
GuBuUBHHIUSIL 0T CHTLTLENL UIHI?

a. PeVlendBSH  HTOUTHIHENT b. uFwaFdH STUIBNB6IT

C. CLPRIBIED d. ugenolt LufTeEeit

Polity: (1 Question)

Recently, the State of Jammu and Kashmir was bifurcated into:
a. Jammu & Kashmir as State and Ladakh as Union Territory.
b. Ladakh as State and Jammu & Kashmir as Union Territory.
c. Both Jammu & Kashmir and Ladakh as States.
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25.

26.

d. Both Jammu & Kashmir and Ladak as Union Territories.

Slewtenlouied, Mbp & HTOUST oMHevd EFewi® LGHdenTsll  LIMebsUILL L Gl
SIN6L:

a. b & SHTOLT  OIHEIDTHAID, 60LTH QOB DLEHMSBHEGL LI L
UGS WTHeLD

b. eoLtd wmHevwrsab, by & HTaUST Q&M SLEHIMBBGL LI L
L@&HUWITSHeLD.

c. by & SHTOYST BBID VULTH Llul EJewi(BID OB 6VBIGENTTHLD.

d. by & &TeST BHBID OLTH B BTG @MU DLEHENBHEGL LI L
UGS WTHeLD

General Knowledge:

Which state is called the “Fruit Bowl”?

a. Punjab b. Himachal Pradesh
c. Meghalaya d. Karnataka

6h& LOMHIGVLD “LIpd SHleTald’ 616l DIeWLPSHSLILIBSBSI?

a. uehamt  b.@wrdgeols yGsad  c. Gusmeow d. siprsm

Who was the chairman of Indian Space Research Organisation (ISRO) at the time
of launch of Chandrayan - 1?

a. Dr. Mayilsamy b. Dr. K. Sivan

c. Dr. G. Madhavan Nair d. Dr.K. Radhakrishnan

gpHymwer - I efewrenied gouiu’ L Curgd @phHw alewiCeusl SuITUIFHS BLpSHE S 60T
SHMEVITH E(HHSHeUT WITT?

a. (ped&dtaU™ ulTFml Siewtenimaieny b. (weneraT Gp.dleauest

C. (emeUTaUT £3.L0TSHeU6HT [HTWIT d. peweeut B.JTHTH (HELG6uT6H
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27.

28.

29.

30.

31.

32.

Unit - III Geography of India

The Port of India which has quick access to Suez Canal is:

a. Mumbai b. Kochi c. Chennai d. Kolkata

GWerd  HTevauTenul GmBhdH CHISHev GFammLUD Hensouled  SiMLDHSHI6T6N
SpFuS SPBUPHID GHI?

a. (LpLbemL b. QarFd C. OFaiTeamnaT d. GarevsHHT

In human races, which race is said to constitute “White people”?

a. Australoid Race b. Caucasoid Race

c. Mongoloid Race d. Negroid Race

el BehiB6Med 6lhdH @D ‘ClRUGTENETUITHET  6IaTLIAITHMETS OlBTeuTg(HoHHMSHI?
a. OleL_JTeoruIlH B)eid b. srsamuiy Serd

. wrBsmeoTuI(h Beid d. BaymuiG &b

The largest tribal group in India is:

a. Nagas b. Todas c. Santhals d. Gonds
Sphawneler Wsl QUi LpBIGY &erd?
a. [BTHTH6I b. Bz el C. FMbBHEVHEIT d. GsrewiBseit

Which of the following is responsible for the continental climate of North India?
a. Vertical rays from the Sun c. Slanting rays from the sun

c. Its location away from seas d. Its location on the plants

AL @hHwumaled Hlevad SNl SHTUHMeVEE HPHENIL 615 SIJEILDTS 2 66N’
a. GllwalLlphal CsmigsHs ST alsFs

b. g flwel O mba FTuiebsHTaiFa

C. HLVBMAIL (B allevd] DIEMLHHI6TON EFHeT DienoaiL LD

d.g0leuei®er Bamer BB Sienail b

The fast flowing river mouths have this landform:
a. Delta b. Estuary c. Alluvial Fan d. Meander

Gous @HujLer uTud BmIs  SPWSILGHBT  BBBlevd  BCHTBBESSHMmerd
OB T6T(H61T61T60T:

a. 6oL b. QUIBIGID (IpsLD C. auewi6v aliflgHienm d.Gmeflwimm)

With which of the following countries does India share the longest border?

a. Myanmar b. Bangladesh c. Pakistan d. Nepal
BIPHEWIL 61hGH BT (BLT @bHWT LS HEMDTeT 6T606MeLMWILT LISITHE OBmeTasImal?
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33.

34.

35.

36.

a. LOWTesTLO b. eukismen Gzaid C. LT&lerdgmest d. Grumend

The new entity after the merger of Air India and Indian Airlines is called:
a.National Aviation Company Ltd.,

b.National Aviation Corporation of India Ltd.,

c.National Airways Company Ltd.,

d.Indian Airways Corporation.

g1  @hHWT  oB@ID  SHIWET  gTmevaiend  HBICUSIRISmeT  QmeniSHEH  LHHTH
QHMRISMETSBUILL L HBIeU6DTLD:

a. Badlw aliomert GuTHGaIT&HSHI HmIeueTd
b.@baw Cxrdlw aliorer GuUTEHGaITHSHIG BLPSHLD
c. Bpdlw eumastoudll CUTSHGHUTSHSI HMBICUGTLD
d.@kHw eureieufld &IPHID

Which of the following statement/s is/are true in respect of solar Eclipse:
(i) It occurs on New Moon days, when the moon is between the Sun and the
Earth. Thus, the Moon obscures a part of the Sun viewed from the Earth.
(ii) It occurs when the mythological ‘Rahu’ swallows the Sun.
a. (i) only b. (ii) Only
c. Both (i) and (ii) d. None of the above
B OaETBSHLILL (BHeemauBmieTn Gfuw  dSramenid OHTLTuTer Flwrer dmBm  /
FBUIBET 615 / eleneu?
1.  SIOTaTdFUSIHD, GIumIbGDd Wossh Semiulsd ghdHyer eaumd  Curg)

Opbpsipe gBUBABS.  SOLTWS  WOWlI®he Sranid Gl @
UGS FhHTeTed Loe»BSHSLILIBGS B!

. rewd SendHHelled aumb QITE Gflwemer al(pmiGHaHTe0 GBLIGSBSI.
a. (i) (B b. (ii) or (b
c. (i), (ii) epadlw Byewi®LD d. GuBamplweBpied eigoD Eevenev

The largest reservoir of phosphorous in the biosphere is

a. Atmosphere b.Rock c. Ocean d. Animal body

1D 6L 60) 6L 611160 Buwimenasuiled LITerOLIT 610 TR, PP S|6Mal60
STenI LGS BSHI?

a. auefoewieuld b.uTemm  C. HL 6V d. elevmigsefer 2 1 6o

Which one of the following is not a precautionary measure that we should take
before a cyclone?

a. Going to high-lying areas from low-lying areas.

b. Jewels and documents to be kept in safe custody.
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37.

38.

c. Those residing in old building should remain there.

d. Battery-operated radio, torch lights, lamps, kerosene, match box should be
kept safely for use.

HBp OCBETHSHLILL (BeemeuBmIeT o1& Luwed eUHUSBEG (Wpet BT  GomGsmeitern
Gouemigul (peTCle&FFfHema HLalHmSB B606n60?

a. empaurent LUGHUI(HHEH 2 witeutenn UGHHGF OFeLeuZ

b. Ben®BH6IT DBEHID  YAITHRIBEEIL LITHISTUILTERT L HH60 eHaudHhHev.

C. Umpw! SLYL HFH60 audlliLeuTseT DHCHCW HHISUNHSHSH60.

d. HesedhsTe0 QUIBIGID aTeemed, msiaelendd, alend@E@dHell, LD6RT6TI6ITEN6NT,
SLOLLY SslweBmBL LWRTUGSHSHIMNSHET GUTBL(BH LTHISTUUTS 606vHSH60.

TN (Related)

Identify the place in Tamil Nadu where Mangrove forest is absent:

a. Pitchavaram b. Kodiakkarai

c. Vedaranyam d. Mamallapuram

SOIDBTL 1960 FHILILHeVS SHTHH6T DMLWIOLBTSH Bl HMSH DIGL UIT6NLD HT6wIH:
a. Fgmeuyib b.Gasmgwisseny  C. Gougmyewiuid  d. TDeLELTID

Where does the river Kaveri break into two channels viz. coleroon and Kaveri?
a. Mukkombu b. Thiruverumbur

c. Thiruvanaikkaval d. Thuraiyur
&1Ceufl oumI 6mi@ OGameef b wmmid &TCeaufl el Ayewi® LIfeysentes Lfladpg?

a. (1p&HLIHTIDL b. HmOeumibLT C. F(HAUTENIHBTEUGD d. siemmpuyT
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39.

40.

41.

42.

Unit - IV History and Culture of India

Identify the metal which was used to make the dancing girl figurine of
Harappan culture in Indus Valley civilization from the list given below?

a. Bronze b. Brass c. gold d. Iron

Ffbgl  Fwleuel  BHrefashdHer amylur  UemUTLIged BT guil  GQuewr 2 (hHeu
Gumbenowimegl, &G O@ThaHsLILL (heTen 6hd 2 CeoneshsTer Gl L g)?

a. GleueTa60LD b. g semen C. GQuer d. &mibyy

Why India is called an “Ethnological Museum”?

a. People of India belong to different genetic race.

b. People of India speak different languages.

c. India has different land forms

d. People of India follow different religious.

BhHWT “Geataluied SIHHISTL FUISLD” 6160l 66T DIMIPSHLILIBHBH!?
a. @pIWiTHer OeuaiCoup BBISHMBF FihHeUTH6N

b. @pFHuwitser GeucuGaim Gomblsaments GLg 66T,

C. @hHWT OeusiGaum Hlev SIMIOLILIBHM6TSH CIBTeRI BTN,
d.@bFuwiTaer CQaueiBaiml oSHBIGMENTL L6 IHB3IE cTmBeTT.

Which among the following was the most important source of subsistence for the
Harappans?

a. Agriculture b. Pottery c. Craft Production  d. Trade
LelrauheueieuBmIel 61  emyluT &y  Wwdelsr Uenplinisg e  (wphalw
CapmBmIeuTwTS alenmiswig?

a. eleugTuib b. o UTewTLFBid6T 2 BLSHS)

C. BN CQUITIHLH6T 2 _BLIGH) d. afsssid

Which factor/s led to the emergence of towns in the Gangetic plain?
(i) Agricultural surplus
(ii) Growth of crafts
(iii) Growth of trade
(iv) Growing population

a. (i) Only b. (i) and (ii) Only
c. (ii) and (iii) Only d. All the above
shImBF FoOaIeMNUled HHIEIBeT CHTEIB SHTFewIOTRIH/ meu 6% / cleneu?
a. Geuenmmewt o_uif] b. ma5H0sTe0seM60 aueNTEFS
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43.

44.

45.

46.

C.oUNBSHIH G GUETTE ) d. QupEECBTERTIYHHS WHH6NT CHTENSD
a. (i) Only b. (i) and (ii) Only
c. (ii) and (iii) Only d. CuBHWIL  SIEMTSHSID

Which one of the following is not correct about Buddha?

a. He did not mention about God.

b. His teachings are full of descriptions about God.

c. He did not accept inequality based on one’s birh

d. He neither accepted nor denied the existence of God.

SLPSHHEMIL UBDBIGT LSHHMIL LBBIL SHeuBTerl FaBml 6157

a. QU sLeyemerl umBs GBIULIL allevenev.

b. gwumoLWL  CUTHORHET DMETGHSHID SO  LUBBIUL  6U(HETENETHN6TH
OB IT6UTIQ(HHHEDT.

c. Uplifelr SiglitienLulleomest FOWMB (LpdBMW SioUT gBMISEET6TeNa606m6L.
d. 9T sLaeMer @mlmL gBBIbEETaTeTaLe0meV  LDXIHE)HHE|LO60M6V.

The rock out shrines at Ellora and Elephanta belong to the period of

a. Rashtrakutas b.Palas  c. Sathavahanas d. Chalukyas

ate0Beumym  OMBmID  61eI0OILIGILT  @GLouemIdH CHTUTEVH6T  GTOUHEDLUI  HTELHMSHF
FibgHeneu?

a. JTedQTdnl_TH6NT b. LTEUTHET C. FTSHAITHMITSHE d. sremHawimsel

Who built the world famous “Khajuraho” temples?

a. Chalukyas b. Chandelas of Bundelkhand
c. Rashtrakutas d. Bahmini Sultans

o sl Uspoumm ‘sermrGant’ Casmaledsemend &L 1QUIaITaHeT WITT?
a. FEheS WTHET b. upBHev®e FHBHevTHEN

C. TTORUQTFnl_TEH6IT d. umfled FHeLSHTEBIHGIT

Which battle is considered as a decisive one that dealt a severe blow to the
Marathas and the Mughal empire and thereby paved way for the rise of the
British power in India?

a. Second battle of Panipat b. Third battle of Panipat

c. Third Anglo-Maratha War d. Third Carnatic War

OITLQUITEEHSGHD  (PHOTWTHERSGWLD  Wal  Gufw  Cxrevalemw  CaThHS
WSHIWSHGIUD  uTUIHSSHID, BbFHwmaled  mHGow  SIFF  SHTNEB  6uld
AUGHSHFHIoTer GUTT 61gH1?

a. @gewrLmb umelul Guimr b. ewesipmd umefiu Guimi

C. epaImmd oymidlGeout — ogmiguit Gumm d.epedimpmd &irprLat GuimT
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47.

Assertion (A): Majority of people developed interest in Bhakti Literature.

Reason (R): Bhakti Saints composed their verses in the language best understood
by the people whom they taught.

a. (A) is true, but (R) is false.

b. Both (A) & (R) are true, and (R) is the correct explanation of (A)

c. (A) is false, but (R) is true.

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A).

gaBp  (A):  OQumeumiwmer dseT LHFH Qevddlwmseisr BHTRT  STUHMB
QUGTTT & G185 O\ IT6UGTL_6OTIT.

sryenid (R): usd) Qusss sipeiser, amormelw wosefler GTHAUIGCW s
LITL60&6m6N  QUWIBMl6oTTaH6IT.

a. (A) sfl, apemed (R) seupl

b. (A) vppw (R) spfw ey sl wBpid (R) eeiug (A) — albg sflwmen
6N BLDTGHLD.

c. (A) soupl, spemed (R) &

d.(A) wppd (R) spdw Ggewip &M wppid  (R) eeiug (A) — alBeg  afwmern
ANleN & L0606V.
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48.

49.

50.

Unit - V Indian Polity

Who do we need Constitution?

(i) To restrict the exercise of power by the Modern State.

(ii) To get membership in the United Nations Organisation.

(iii) To check the tyranny of majoritarianism.

From the above, select the correct answer:

a. (i) and (ii) only  b. (ii) only  c. (i) and (iii) only d. (iii) only
BLOHG 6T SIFwevamlILF FULID 6B @eisl CHemeuliBGEHmEHI?

(i) mofer Sdear SFHEM aIbLBMmeT S BHEG6NT MeUHD.

(ii) madw BrBH@6T Semeuuled 2 I NeyTas

(iii) GuepbUTETEMLMTHSHET CBTBHRCHTEIMmILMULS HBSHD

a. (i) wmpub (ii) w G b. (ii) w GO c. (i) wmmud (iii) wi@Ew d. (iii) w @

Which article makes special provisions for the state of Nagaland?

a. Article 371-A b. Article 371-B c. Article 371-C d. Article 371-D
ey grgahHar ebsHl Lfley HISTHSH LOTHNSGHBEG FBLLF FInDHm6N
QULDRIGH I MG ?

a. Ufley 371-A b. Lifley 371-B c. ey 371-C d. 9fley 371-D

Match the following;:

A. Family Courts Act - 1.1976
B. Equal Remuneration Act - 2.1987
C. Indecent Representation of - 3.1984

Women (Prohibition) Act

D. Legal Services Authorities Act - 4.1986
A B C D

a. 1 2 3 4

b. 4 1 2 3

c 3 1 4 2

d.

1 3 2 4
SLpHENILaUBenBL  CUT(HSHSHIS.

A. @B BeO BAWSBF FLULID - 1.1976
B. 10 eardws FLid - 2.1987
C.Quewiasemensd Hauptd HAsHlhbme (HEUL) FULID - 3.1984
D.evaug gl L1 Lenidel Senemib@GoF FL LD - 4.1986

A B CcC D
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51.

52.

a. 1 2 3 4
b. 4 1 2 3
c. 3 1 4 2
d 1 3 2 4
Match the following;:

A. 86th Constitutional Amendment Act

B. 92nd Constitutional Amendment Act

C. 76th Constitutional Amendment Act

D. 66th Constitutional Amendment Act

Qn o
0N Ry
W R RN
N B = WA
RN W R Y

S1pSH eI aBenBL  CUIT(HESHIS.
A. 86aug SFmIDLILE FU L HHHHD

B. 92eug opsmwliing gL HmpsHsd

C. 760ug oppgmwlilF UL HbHSHSHD

D. 666ug opgmolig UL HHHHD

an oo
W=
W RN
N = WA
RN W

2.

3

4.

By which amendment the “Right to

fundamental rights?
a. 44 Amendment
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Made elementary education a
fundamental right

Included four more languages in the
8th Schedule

Included the Tamil Nadu Reservation
Act 1994 in 9th Schedule

Included all Land reforms Act of
States in 9th Schedule

. OBTLEHSH HeLal CLMBIGHED DigLILIHL

o flemowimdhaLiur L g|.
U LTaugl S Leuenemniuled GLogyid
BTe@ OmpseT  GFTebsliul L g
1994 91b 6w HODHTH
Bl FHHH (HEF FULID QEITLISTEUS]
I L auenertulled GFiTadhaliul L gl.
LOTHIEVRISET 6T DIMETHFH [Hl6VF
FNHMHSHHF  FLLEISEHD QLS ToUS
I Lauenenruled GFThaslILL L gl

property” was removed form the

b. 32nd Amendment




53.

54.

55.

c. 43r4 Amendment d. 42rd Amendment

abd oFwevemiolisd  HHHHF FLLSHFHT eaumuieons  CFThaiflews  ugliLenL
o flemouled G\mHbHEH HHSUILLL HI?

a.44 augl HHSILD b. 32 aug Hmpssbd

c.43 augl FHmsHsHId d. 42 eug HmHsid

The idea of secularism in the Indian Constitution prevents:
(i) Domination of one religion over others.
(i) Domination of some members on other members of the same religion.
(iii) Enforcement of any particular religion by the State.
Which statement given above is/are correct?
a. (i) only b. (ii) Only c. (i) and (iii) only d. (i), (ii) and (iii)
Bhaw  SfwevmwlilF  FLLGHHO G OUL (BeTem  IDHFFTTLLNIND  6TenILD
BHHSITHBID SLPHHEWILUBMBIT eTaUBeNBsSH SHbHHHBHI?
1. @@ S BB WHHIHeMeT Gsd HHHHD CFISHHICIMS.
1. @8y WHHHBESH6T FevT LOBBEUTHET FH YHHHD OFNIHHINMS.
1. & @ GUIUILL WWeHHMS aedbhH HML(LPMBL LBHSHIMS.
a. (i) G b. (ii) w. G0
c. (1) b (iii) L GLd d. (i), (ii) wbpid (iii)

Who was the Prime Minister of India When the government implemented the
recommendations of the Mandal Commission paving way for the reservation of
27% of the posts under the Government of India for the Other Backward
Classes?

a. Mr. Rajiv Gandhi b. Mr.Moraji Desai

c. Mr.V.P.Singh d. Mr.Chandrasekar

@hHw ofer Sp 2 6en UHIBeTed @FHT LIBUGSHSLIULL  eauGLIeIheEE 27
a(pSHSTH BL HIHHH OIS alend OFUILID LWL 60 Gl UMbBHIenTHen6T I
CaweoLBhHHWCLTEH BbFHwmaler LIFsHwyTes E\mHbHeuT wmr?

a. Hm.gredel Hh b. &m.Cwmrey Gxmamul

. Hm.all.L.Ami d. Hm.gbHrCFHT

“Political democracy cannot last unless there lies at the base of it social
democracy which means a way of life which recognizes Liberty, Equality and
Fraternity as the Principles of life”. Who said this?

a. Pt. Jawaharlal Nehru b. Periyar E.V.Ramasamy

c. Dr. B.R. Ambedkar d. Dr. Rajendra Prasad
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56.

57.

58.

“GHHATD,  FwHHeUD, FCHITHIHHIAUD — HFWeBmm  euTpelel  SlgLiemL &
CamurThEenmsd SRSHNEGD Fpd DQEBTUSLD 61D  DIgSHHeD  Be0LenevBUIeD
SITFWe0 MEBTLSHHTED BlgdHd SUICOTH 6161 FnmllieuT wim?

a. uewngl geuamiteomed G (m b. Quilwr F.Geu. FrogmL

C. (pemavtauT L1, 1. SINDBLISBIT d. wenereut grGxHAy LiysTs

Which feature of the Indian Constitution stipulates that it shall be the duty of
every citizen of India to develop the scientific temper, humanism, the spirit of
inquiry and reform?

a. Fundamental Duties b. Fundamental Rights

c. Directive Principles of State Policy ~ d. Preamble

ObhFHw oFweomlF FLLSHH 6l DIDFID @elbeuTH BHHUIs (GHLPL0HENEIUILD
Slalwied GTUILUMRIEG, LaldGhuwid, uIbsBlun Call s, FTHHHHD DLdWaBemB
aueTHHIS Cameiten Geuswi(Bld eTert 6UelULBISHBHIBBSHI?

a. SIQLILIML & FHL NLDSH6IT

b. omgriuen. o Menioser

C. oas Oamatensulene GBEBILILGSHHID CsTLTBae6l

d. waejemy

(i) In the subjects enumerated in the “concurrent list”, both the Union and the
States can legislate.

(ii) In the event of contradictions between the Union and States, the State’s
authority will prevail.

a. (i) Only b. (ii) Only c. Both (i) and (ii) d. None of the above
(1)Oumant  ulipuedsd  GSUULILLLL (oo SHiewBS6T  1BH WSS LOBEBID  LOTBeL
SIr&EH6T IO FLULID SuBMmeoTLD.

()@ OsTLTuTe WHHW SPFBGL LK SPFABGL SewLGui (prewum®h  gBUBLD
Qumapgl Bl odler IHSTICL GBsommiGLD.

GBev sTeWIILIBLD FnBmIB6Ted FRWTEHIH Neu 61%H 6T6n6?

a. (i) L (G b. (ii) or (b

c. (i) wbmpibd (ii) d. GuBsewiL  eTemeuLilsdeney

Which of the following is not included in the concurrent list of the constitution of
India?

a. Education b. Forest c. Police d. Trade Unions
SlpseniheTenauBmeT 6% AbhHU DFFuievenoliF FLUL S Her GUTHIT L iguiedled L Lb
CuBaTeLem60?

a. &60a b. eueid C. HT6U6D d. QamoBamIBHIG6T
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59.

60.

61.

62.

In which of the following cases, the Supreme Court of India delivered a
landmark judgement regarding the use of Article 356 of the Constitution?
a. Indira Sahwney case b. S.R.Bommai case

c. Minerva Mill case d. Kesavanantha Bharathi case

SpFweosmwlig sl Her Lifley 356- vwaLbSHNH OFHTLTUTE 2 FF BHIHIOGIBLD
RS e  (WPSHSWSSHUD  auTuihdH ST  SPESITEID  6hSH  6ULDSHSI60
QUIDRIGBUILIL L&) ?

a. @baHIT am@er aupHSE b. erer0.&yT. QUTIDENID UGG,

. Wenmeum 1060 UGG, d. GasFamanhs UTTH aupHE

a) Villages were classified according to size and mode of habitation in Jain and
Buddhist literature.

b) The religious orders founded by Buddha and Mahavira observed highly
democratic procedures in arriving at decisions.

Which of the above statements is/are true?

a. (a) only b. (b) only c. Both (a) and (b) d. None of the above
a. gewl WLBYID LSS BevdbsHumisened FBBrTser SeuBpler Siene], eudL Galer
SHMD SLFWeumslent Sl Uled UMSLILIBHSHSLILIL L 6.

b. usstT BmId  wesTelgTed  CaxmmmeldsliulL  Fow  OBXISET (P66
ol (Boudhled Guobul’ L ebTwsS au(enBEHMmend el LILTIg &g el

GG sTewILBID Fmmmiseiled Filwmeig / e g / eleneu?

a. (a) @B b. (b) L Bw

c. (a) wpmid (b) d. GuomsemiL  eTeneuu|Llsoemen

The Gram Sabha meetings are held four times in a year. Which one of the
following is not among the four dates?

a.January 26 b.May1 c¢.November 14 d. August 15

SHITD FoLUS Fnl LMIS6T @aICUTIH LewIBD BT (WM BLSHHLILGSemer. SO
CaTHaHaLILL (BeTemeuBmIeT Sl LD HLOUB aUnIWBISSLILLTEH BT6T 6157

a. meeufl 26 b.Gw 1 c. peulbuT 14 d. eymeror” 15

(i) “Panchayat Raj” is the most important revolutionary step in the context of
governance of rural India.

(ii) The foundation of “Panchayat Raj” was laid by our first Prime Minister Pt.
Jawaharlal Nehru at Nagaur in Rajasthan.

Which of the above statement/s are true?

a. (i) Only b. (ii) Only

c. Both (i) and (ii) d. None of the above

(i) esps @bHwmalen o HF GPeded “LehFTWSHSH JTR” eTeiLg LS  (LpaauiLDTe
UILF&] BLaUgSHmBUITGLD.
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63.

(ii) gregerOsmelr LOMHleHHe0 2 6o BHM60 BIOGI (PH60 LITHIOT LIWIgL  £I6UEBTEOTED
Gh(H SIUTHEMTeL “ULEhFTWSHSH TTR” SIWUILIBHTHT DIQHSHEND DIGHIDSHBLILIL L .
GBev sTewILILBLD FnBmIB6Ned FRWTEIH Neu 615 6Teneu?

a. (i) (B b. (ii) oL (b

c. (i) B (ii) d. GuoBaemiL  eTeneuu|Llsoemney

(i) Individuals should receive respect and reputation on the basis of their
achievements and talents. It should not be on the basis of their social identities.
(ii) Inequalities and discriminatory practices which prevail in the society are
artificial and are known as prejudices.

Which of the above statement/s is/are true?

a. (i) Only b. (ii) Only

c. Both (i) and (ii) d. None of the above

()pell BUTHET SHEIBENGH FTHMBET LOBEBID  Hpenwadeier  Siglitient uNGeGw
B  oBBId  BBROUWmTL  CuUBGaIeT(BLD. SIF  FUPS DML WITENHIH6NT 65T

SlglIenL_ulled G(HHHSH Fnl TG

(i)swasTwusded Heoald gBBSHSTPEET  WOBHBID  UTTULFOTERT  [HEDL (LHEDBSH6IT
OFWIMB6NBUITETENE. Sieme6l, 9 GU0I6NLOEHENEIT SUTTUITSH SBITIJ 6001 & SHITGL 6I(LpLD
SHLICLIGHTENTERISHET 61601 DISIWILILIHS6IIB60T.

GG sTemIILBID Fnmmiseied Filwmeig / el 6igl / cleneu?

a. (i) @ b. (ii) i G0
c. (i) wppbd (ii) d. GuBaemiL  eTeneuu|Llevemney
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64.

65.

66.

67.

Unit - VI Indian Economy

“Rupay Card Services” were launched by:

a. National Payments Corporation of India b. Reserve Bank of India
c. NITI Aayog. d. None of the above
“mBu oIl ewL GFemeumder” WIMPTeL OCGHTLMISLILIL L &)?

a. @pFHW Cxd CFISHHIHEO HLHHLD b. @bHw Mgl eumid)

c. Hg euBuinsk d. Gumaapiul eTemeuu|Liledenev

Which of the following is incorrectly paired?

a. NEFT - National Electronic Funds Tranfer

b.IFSC - Indian Financial System Code.

c. RTGS - Real Time Gross Settlement System

d. ECS - Emergency Clearing System.

BIPHEWIL_aUBMI60 61&H HUBTHL GUTHSHSUILIL (HeiTerng)?

a. NEFT - Capdlw eiteteml B Liflommmd

b.IFSC -  @bdw P oewins @GEuib

c. RTGS - o ewienid @By OCTHHH SHTald SIELOLIL|SH6IT

d. ECS - DIUF] BMTeVH HTAUD (LPeHB

Which organization prepares the estimates on physical capital formation?
a. Central Statistical Organization b. Census Department
c. Planning Commission d. Finance Commission

LGUEUTHET cpeuHendhend WHIIGH OFUIuD el 61g)?
a. wHHuwl LeiteMuiued Himieuetd b. wdsel OFHTeNDH HWIHOBBLILS Hienn
C. HLBGSY d. s

Match the List I with List II and select the correct answer using the codes given
below:

List I List II
(i) Monetary Policy - (a) Bank rate
(ii) Fiscal Policy - (b) Margin money
iii) Credit Policy - (c) Tax rate

a. (i)-b, (ii) -c, (iii)-a b. (i)-a, (ii)-c,(iii)-b
c. (i)-c, (ii)-a, (iii)-b d. (i)-c, (ii)-b, (iii)-a
ulguied BEId & CurpreHeH SO GaThdbslul (Beten gFhwmer alLemuw  GxiTey
CFulis.
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68.

69.

70.

71.

Ul iguiey I U iguiev 11

(i) uers GaTeTens - (a) oumid aisld

(i) PFs Qaxmeiiens - (b) Bm1d BlewevLiLIewILD
(iii) sLe&T CaTeTens (c) aufl efdsid

a. (i)-b, (ii) -c, (iii)-a b. (i)-a, (ii)-c,(iii)-b

c. (i)-c, (ii)-a, (iii)-b d. (i)-c, (ii)-b, (iii)-a

Which is/are objective/s of a sound “Agricultural Price Policy”?
(i) To protect the farmers from exploitative practices of private traders.
(i) To ensure fair prices for the produce of the farmers.
(iii) To ensure adequate and regular supply of agricultural commodities to the
wholesalers at reasonable prices.
a. (i) Only b. (ii) and (iii) Only ~ c¢. (i) and (ii) Only d. (i) and (iii) Only
augieuTer Gauenmemienio aflenevd OdmeTensullet @&nlaGsmeir/seil wimgl/ wmeneu?
(i) selwnr seisTseier sy soseamsd Emba eleusTulsMmen! LITHISTLILISI.
(i) eleusmuiseflesr o BUSH OUTBLBEHHES BWTWIOTET 6lDeD  CUPHIGHMMS
o Mg GCFuiHev.
(iii) Pwrwworer  elemeouled GCOTHSH  cualSTHEDSHES  eleusTuill  GLUTHL Sen6r
Gungiomer Slenalleuild, CHTLTFFWITHD 6UDHRIGHMmS 2 BISHFUIH6L.
a. (i) (G b. (ii) wBpid (iii) wL G
c. (1) wimid (ii) oL Bib d. (i) wbmpub (iii) LG

Which one of the following is a Non-banking financial Institution?

a.State Bank of India c. Central Bank
c. Life Insurance Corporation of India d. Indian Bank
S HEHILBMIe0 aumIdS DIeL6VTH HFH HimleueTd 61g?

a.@bgHw oG eumIs) C. MW GUMBIS)
c.8bFw Sujet ST (HS SHPBLD d. @pFHuwier eumid

The Cash Reserve Ratio is fixed by:

a. Reserve Bank of India c. Canara Bank
c. State Bank of India d. World Bank
Qrés @iy aldsHend Hitewid CFulag):

a.@bgHw faiel eumid) C. BT 6UBIP)
C.8pFHw erBLL aumId d. 2 evs eumid

What is deflation?
1. Increase in the general price level.
2. Decrease in the general price level.
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72.

73.

74.

3. Stability in the general price level.

4.Both1and 3

a. (1) Only b. (2) only c. (3) Only d. (4) Only
LIGRTOUTL L LD 6T6OIMBT60  6T60T60T 7

1. Qurgl alemev UL IFHSIMEHSH60

2. GQurgl allemey UL LD G6emBSH6D

3. Qurgl aflewev DU LID  LOTBTH(HBHH6L

4. 1 oBmid 3

a. (1) L @w b. (2) w (i c. (3) L (B d. (4) L B

Which of the following is/are the objective/s of Monetary policy?

1. Exchange rate stability 2. Price Stability

3. Full employment 4. Economic growth
a. (1) Only b. (2) only

c. (2) and (4) Only d. (1), (2), (3) and (4)

B BT UBMIET LIewIS0sTeTensulen Gbraaid/ ChTaamisern 61gl/ wimeneu?
. [Hleveowmedr LOTBMI l&IHLD

[S—

2. allen60 HleN6VSHSHETENLD

3. W Geusmeveumuili

4. QUTHENTHTT 6UeTTES

a. (1) w @w b. (2) w_@w

C. (2) wbpidb (4) oL B d. (1), (2), (3) wbmid (4)

Which one of the following is not directly related to fiscal policy of the
government?
a. Taxation b. Government expenditure

c. Lending Rate d. Budget

&0 sTewrliLBL Semiselsd 6hH @B DFFar HHb CaTeTemaBunh CohIguiTs
LT Ie0eoTSHSHI?

a. eufl ey b. oas OFevaleimisei

C. LT aN&SHID d. aye-GFeves & LIb

Which of the following are associated with land reform measures?
1. Abolition of Intermediaries

2. Tenancy legislation

3. Ceiling on land holding

4. Co-operative Farming

Select the correct answer using the codes given below:

a. (1) (2) and (4) Only b. (1),(3) and (4) Only

c. (2) and (4) Only d. (1), (2), (3) and (4)
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75.

76.

77.

78.

SLPHHEWILUBDIGT HlevF FTH(hHSH BLIQHMBHECTH OSHTL LML Ulenel 6Teneu?

. DL SHFHTHTHMET LHGHSH60
. Hovd GHHHMBF FLLID

DN =

3. P60 2 &5 euyLby

4. gl (Bl Uecwienewl GalerTemrenLn

a. (1) (2) wmpid (4) L B b. (1),(3) wBmid (4) L B
c. (2) wbpib (4) wL_GLd d. (1), (2), (3) wbpib (4)

Goods and Services Tax (GST) is a:

a. Direct Tax b. Wealth Tax  c¢. Indirect Tax d. Professional Tax
75 opb Cxemen eufl (GST) esiug:

a. Gmrrlg el b. QFeveu eurfl c. voop(ps el d. Osmfed eurfl

What would be the direct impact of simply printing more rupee notes without
focusing on other economic measures?

a. It will lead to price rise b. It will lead to price fall

c. It will lead to un-employment d. None of the above

B QUITHTTHTT  HLeUgdhendHmen GCoBOFTeTaImHD ST IQEVID DHH  Diemailevmen
LT SHSTLHeM6T HFFIQLILST60 gBLBLD CHIQuiTer allenene] sleiaialTs SHbEHL?

a. @l elme gHBSIBG A AGSELD

b. 831 alemev afipFdla@d alfl auGo@EID

C. 85 Galemev aUTUIIITIENIDGG I 6IEGHHGLD

d.Guomsem  sTemeauuilevenev

Indicate the fundamental economic activities of an economy:

a. Production and Distribution ~ b. Production and Exchange

c. Production and Consumption d. Production and Marketing

R QUTmHEMTHTT SiwWLILT6T DUQILIHL LI QUT[HEMTSHTT HLAIYHmBHMeNS GHBILILIGS.
a. 2 _BusHHUID udliTeayd b.e_Bugsduyd ufiorBspd

C. 2 BUSHHWID HISTAD d.2_Busdud FHmBLILGHHIHMID

What is a Non-Performing Asset?
a. It is a loan or advance for which the principle or interest payment remained
as due for a certain definite period.
b. It is an individual’s asset which is not yielding adequate returns.
c. It is a social asset like Railways which is not performing.
d. It is an Immovable property which cannot be sold as and when required.
CFweoLLTEF CFTHGI CI6IMBIT6L 616316017
a. m SLelel  SELVGH  (paTlTSHer  DFGT  Slevevdl Ul BT @
AUMTWBISSLILL L HTeVHHMBE Hlalensuuled E(HLUILIGI.
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79.

b. Gungiomen aumeuTul QuUB BuieoTs @b HelpUler CFToHg.
C. QFweouLTsd HUiUTns CUTSIB e CUTHFOFTHGI.
d.Camaiupd Curg alBs BUTs @ DMFUTE CFTHIHI.

What do you know about Informal Economy in India?

a. Informal Economy contributes to approximately 80% of the total
employment distribution and to approximately 50% of the G.D.P

b. Informal Economy contributes to approximately 15% of the total employment
distribution and to approximately 90% of the G.D.P

c. Informal Economy contributes to approximately 40% of the total employment
distribution and to approximately 25% of the G.D.P

d. Informal Economy contributes to 99% of the total employment distribution
and to 95% of the G.D.P

@bFHwraler (pemamym GuTmenTaTIn uBsl HelT Disleugl wimr?

a. (PeBFTIML  CUTHEMTHTISHSHET UmsefiuTeargd Owrssd Ceauemeveumuilill  LSlTaled

gpdHGHmpBW 80 alpssTLTSD OCTdhs 2 6HTLH 2 BusHHuled gBoHGmBul 50

A(PSBTLTHD 66N

b. wepamyml  QuImHeTTESTISS 6T UkseliuTaig OoTshs  Cauemevauruiti  udTaled

gpdsGmpW 15 alpssTLisab Crshs 2 6IpTl(l 2 BusHHuled gBoHGmBul 90

QAN(LDSBTLTHD 2 _6IT6NSI.

C. (peumBamyml CUTHeMTSHTISSHe LmiselliLmeig OwrdHs Geauemeveuruiliyll  uSlTaled

gpeHGHMmBW 40 alpssTLTSD OCTdhs o aETLB 2 BusHHuled gpoHGHmBul 25

AN(LDSBTLTHAD 2_6IT6NGI.

d.@penpamym QuImeTTHTISHet LmisefliuTagl Gwrshd Gauemeveuruitiyll udiaied 99

Al(SSTLISOD OTdHd 2 BTG 2 Bushdluled 95 all(psETLTSHD 2 6Tengl.
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80.

81.

82.

83.

Unit - VII Indian National Movement

The first attempt at introducing a representative and popular element in
administration was made by:

a. Indian Councils Act 1892 b. Indian Councils Act 1919

c. Government of India Act 1935 d. Indian Councils Act 1909

PiaumssHHe0  LITHHHSHHe LBBId OuTghl  1SHE6eT  FTibhs  Fnpidemen  SIBI(LPSLD
QeI (PHeO (WPWWBFwTe SuBprul L F FLLLb:

a. @pFHw seyerdlevser FUL 1892

b. b seefleoser FLb 1919

C. @hFHw SemhIeF gL 1935

d. @pFHw sejeflevser g Lib 1909

When was the first time that the British used “commonwealth” instead of the
usual “British Empire”?

a. During Cabinet Mission  b. During Simon Commission

c. During Cripps Mission d. During Mount George Commission

SLRIFB0  OIF  aIpSSOTHI LWLSLUGSSHID ‘Ufilyed Cuiga’ aaUSBESL UFH60TH
‘BMOGT06U60S  6TamID OFTe0m6eV GIIGLITIDHI (LPSHET (P&He0TEHL LWSTLIBHSHH I ?

a. SIMFFTM HTHIGHEGaller LTS

b.engwer @Gpaler GQUITIHSI

c. &ifllied SIHS Gupaler QUTIHS

d. wejewn’ @iTey GrpelaTt GUITIYS

What was the first challenge in the political sphere faced by the “Women’s India
Association?

a. Right to Property b. Right to Education

c. Right to Re-marriage d. Right to Vote

“@hHul OLHTHeT DML HTFUID HNMHH60 FHHHD (PHL FaUuTed 617
a. Qarshgiflento b. seval o Menio

C. wpiwend flujb o _Mento d. aurs@fleno

To create a class of people “Indian is blood and colour, but English in taste,
opinion, morals and intellect” was the intention of:

a. T.B. Macaulay b. Henry Vivian Derozio

c. H.S.Olcott d. Raja Ram Mohan Roy
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84.

85.

86.

‘QrspsIun PBsSSad GbSHugteaud, Jemeauis, sGSH0. bH6BIsTD,
afaled SmBCowgTHad AmESGSD @  WwéHHeT  Lflelateny 2 (Heurdh@Hev
Gouewi(BLd” 6113 CHTHBHMBDH OHTEUOTL GUIT:

a. 19.19.6&&T8sv b. Qamend elalwier GLGymfGuim

C. OaB&.61610. 60HTL d.@yregmymb Guomasest Fmul

Identify the reason why Mahatma Gandhi went on a fast unto death at Poona in
1932.

a. Failure of the Second Round Table Conference.

b. Issue of Communal Award.

c. Refusal of viceroy to commute death sentence of Chittagong Armoury raiders.
d. Government’s refusal to release political prisoners.

1932 sib suewi(p Uemaled SMhHHUgHeT FTGWD ] o _ewienmalysd GombsTeTend
HTTCID 61HI06UTSH 56301 (HEMITH.

a.@rewiLmeugdl eu' L Geng LOMHTL g6 Ggmeveal

b. augiy eurfl o _Meno Geuefuiri L gl

c. FLLaMh QUISSILMHIEG DSSHTOILTENTSEHDHE aMSHSHSLILLL DT  FHeuoTL 6D6TenUL
o5t TIPS Gopss wHISSS.

d. opflwed madHsmen alhHemev CQFUILI SF& LOBIHHH.

(i) The British had to appease the Indian nationalists and the outcome was the
passage of the Government of India Act-1935.

(ii) This act provided for greater power to the local governments and the
introduction of direct elections in 1937.

Which of the above statement/s is/are true?

a. (i) Only b. (ii) Only

c. Both (i) and (ii) d. None of the above
LORFHCowWTHEnEHG @bHw  Chdwendasmenr  HEUHUGSHS  Couswigul  Hlensv
gBUlLG. SiHeT Geuefiliium@L 1935 — Sub Sengen bHFHUl DTFFTRIGSF FLULIDTGLD.
1.QFF LD, 2o 6T d IaseErdhE DHS DAHSMID  aPRSWCHTH, 1937-ub
oennge0 CpIgsh CaHTdHamewd SIS OFUISHSHI.

GBsv smew LB FmBmiGeied gflwimeig/ el 61&il/ elene?

a. (i) @ b. (ii) G

c. (i) wbmpibd (ii) d. GuBsewiL  eremeuLilsdeney

Birsa Munda led a revolt against the British in:
a. Chotta-Nagpur region b. Ganga-Yamuna region

c. Himalayan region d. North-East region
Litegm (pewiLm ehHL UGHHUNeV(hhaH hSGeowiTdemen eIFHTHSHIN UILd CFUISHTT.
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87.

88.

89.

a.GamLr — pIeUT uGHUWIHHSH b. EBImE — WpameT LIGH U (HbHS
C. @wmeouwlll UGAHuIedHha d.au_-dwsdg LGHUIImHHSI

(i) Brahmo Samaj denounced polytheism, idol worship and the faith in divine
incamations.

(ii) It condemned the caste system and superstitions.

(iii) It opposed widow remarriage.

Which of the above statement/s is/are true?

a. (i) Only b. (iii) Only c. (i) and (ii) Only d. (ii) and (iii) Only

(i) Ay gworgd, U sLejeT euPUTH, o (hey aPuT®h, STl SIUSTIHISEI
aTenr BOLSmad SdleBens Geua iUl wWTedh SeuiLeld CFuISHgI.

(i) @5 TS (penB, cPLBOLISmBEHET B UIBOBS SEWIL D QFUISII.

B3 alHMaUDBET DBIDETIHMSH 6IHTHHIHI.

BB OFTeveuliLl L FnBumiseiled 6151/ eTemeu Filuimendl/ eneu?

a. (i) w @w b. (iii) o Gid c. (i) wmmid (i) w@Gw  d. (ii) wspib (iii) w G

(i) One of the earliest initiatives to impart modern education among Indians was

taken up by the Christian Missionaries.

(ii) The Christian Missionaries provided opportunities to the underprivileged

and the marginalized sections to acquire education. These sections were denied

learning opportunities in the traditional education system.

Which of the above statement/s is/are true?

a. (i) Only b. (ii) Only c. Both (i) and (ii) d. None of the above

(i) @bFHu wssefewLBu malwd Sealdwd sBBIGH HJ  CBOsTeTETILL L
CaTL&Es  &Tev (puBFlsaibeoraip  SpfledHey  FOWILTULS — G(RSHHENTED
(PSITOIET(HEBLILL L SHTGLD.

(i) &fledgdeu oWl ULS GURSH6ET DRSS (B WHBEHSG, aleflibl Bleneo
DEBEHEHGD H6val OLBIUSBHTET aUTUILIL SN aulpmider. @ULIfey LbHHEHHS
LOL b H60a (LPEDMBUTED &60a SHBLIGHBSHTET o flenoaelt

LOMISBSLILILQ(HHHSI.
GBsv GFTeVEILL L dm@Bmiseiey Fllwimeig/ el 61gl/ elene?
a. (i) wi@Gw b. (ii) w @G c. (i) wBpd (i)  d. CoBawiL  eTeneuu Ll sOem6v

“The Pacific Coast Hindustan Association” was popularly called as “Ghadar
Party”. “Ghadar” is a Urdu word which means:

a. Freedom b. Rebelion c. Devotion d. Victory

‘wFls PCss AbhglerveHTeEr Dol SHTT LIl Sl el LJeUeOTdH DIDIDSHSLILL L F).
‘BT elmId 2 (HFHF CFTevedleT CUIT(HENT:

a. alBHem6v b. denitsd C. Ushg d. Geumps)
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91.

“The time has come when the badge of honour makes our shame glaring in their
incongruous context of humiliation”.

Who said this while renouncing his knighthood immediately after the
Jallianwalla Bagh massacre?

a. Saifuddin Kitchlew b. Rabindranath Tagore

c. Mohammed Iqbal d. Surendranath Bannerjee

‘wilumemgdd  GmBauTal Ge0 Hevald Geueneulsd SieuTanShHlen Feaeiors b
HIIBGIw Ul FHspSma .

eieumm  SPwCaHTH  MmTedlwet  eumeOTUTE: UBOSTENEY [BLHSAULGT  HOISH DFFL
UL S0 2 L elguiTesd SHIBHSTT wimit?

a. mFLSHET HI_Fa)l b. BreibHBTSH HTanT

C. (PSS BGLIT6D d. aCypHymrd uTeTed

Which of the following statement/s is/are true about Subhas Chandra Bose?

(i) He was the president of the Congress.

(ii) He resigned from the post of president of the Congress as he was isolated
within the Congress.

(iii) He founded the “Forward Bloc” to function independent of the Congress.

a. (i) Only b. (i) and (iii) Only

c. (i) and (ii) Only d. (ii) and (iii) Only

FHBTEID  amBuideiecd &uTad FhHr Gumemevlt umpw  Fllwmer  gmBmI/ Sei
a1l / eTema?

(i) ot smmdged sl duler HmevaITs EHHSHII.

) amhdEred sl duled SHallLBSILILLLHTO  SUT  SHAH  HED6VGUT
ugalullel(hbad aleod 6.

(iii) smaEread sLAuldmba SHalsmHsF OFweduBld CUTHBLEG ‘UmTauT®  Llenrd’
aeID &L Flenuld O HTL MBI

. (1) LB b. (i) wmmib (iii) oL B

. (1) @b (i) oL BLd d. (ii) b (iii) o Gib
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92.

93.

94.

95.

Unit - VIII History, Culture, Heritage and Socio-
Political Movements in Tamil Nadu

In the ‘Darasuram’ temple built by Rajaraja - II, incidents from which one of the
following literatures are depicted in the form of miniatures in the walls of its
sanctum sanctorum?

a. Kambaramayanam b. Mahabharatham

c. Periyapuranam d. Kandhapuranam

BrewiLmbd @gregyrey GampenTed SULLLLL STIT&EJD CaTuleds SH(HeUdBF SHaumnse0
BHIPHBTEID 61hH DeVSHHWSHH T BB BT (GHMIehFBURIGNTS 6UlgSHBLILIL (HeiTerent?
a. SLDLPTOTWenTD b, ey c. Quilwygmewid  d. &pHFLFTERID

Jaina influence is strong in early Tamil literature. Which one of the following is
not a jaina work?
a. Naaladiyar b. Pazhamozhi

c. Jivakachinthamani d. Manimekalai

LIOMISTeVd SOD BeudbdIHHe0 FOW FOUWISHHET STHEHLD IVIOITS 2 6iT6NG).
S1PSHBHEWIL_IBMIGT FLOWT DEVSHSIUID DIGLUTHFHI 61FH17

a. [BITEVIQUITTT b. LpGompl c. Fous Fpgmioemnd d. weniGusemev

To which period the great literacy works of “Kamba Ramayanam” and
“Periyapuranam” belong?

a. Chalukyas b. Vijayanagar Empire

c. Later Cholas d. pandyas

QU(BD BEVHSIWILT LHLLILSHENTTe  SUTTIOTUWIeID’  oBmIb  ‘Guiflwygrend’ gysluismel
b HTEVHL L HWHF FiMhHeneu?

a. FTEHBBITEHEIT b. eleguipasyi Guyys:

. UBamevd Gamipielt d. urewnguITE6IT

Who hailed the Pandiyan Kingdom as the richest and the most splendid
province in the world?

a.Ibn Battuta ~ b. Marcopolo  c. Hiuen - Tsang d. Fa-Hien

uTewniguwl oIId 2 60dBeBW WdaD GFeveuF OFPINILLID, DIBLSOTET HIDGSGL DILD
STILUGBL UG 616l LSTTD @LIQuIeUT uwimiT?

a.@ier ulBrr b, wrTéBsTCUTGeuT C. W66 Si6uMTmI d. uranfwimest

33
Appolo Stdudy Centre: www.appolosupport.com




96.

97.

98.

99.

Which one of the following Governors of Madras presidency gave attention to
education and regarded any expenditure on it as are investment for whom a
statue was erected at Chennai in 1839 by public subscription?

a. John Erskine b. James Thompson

c. Thomas Manro d. Arthur Havelock

SIPHFHTEID CFIIENT LOTHTEWT  SLEHHTH6TL HeLalSHEG (PHBWSHBHIUD DieHHHIL 60T
DIHMBBTT  OFevalemibenel (WHOLTHS SHBHUW Heuflel Hlenereursll OILITSHIDSHSHEI
APRISW HHowsd BT 1939-si0 ewih  CFaiemauled Femeov Bmieuil L &)?
ST wimir?

a. SQTelT 6TTerOas 6or b. Gegiberd  &ITIDLI6TVGH

C. SHTD6TD LG d. eyt Gameieurd

Use of animal forms in pilasters and columns including rampant horses and
leogryphs give a distinctive character to which one of the following architecture?
a. The Dravidian Style b. The Bundalkhand style

c. The Orissan style d. The Harappan style

FRHTHBMeWIB6T, Bl 6D  GHmIHeT LOB@ID wTPHeT SiFlweumpslet LWGTLITH
SPHEHTEID 61 FBUSHHMEL (LHDBHE HONHBIAILDTET HETENLDMI  GULPHEIGHIBHI?

a. Hymall  (penm b. LbCHevE6I  (Lpenm
c. gflerverom (pews d. emyriueT (wenm

(i) The sound system in this language is rich in retroflex components.

(ii) Its varied vowels distinguish it from other languages.

Which language system is described in the above statements?

a. Dravidian languages b. Pali language

c. Prakrit language d. Sanskrit language

i) &bs OCwrfulsieTen 0 oW umEBTOMTIS mpideT WHGHWTSHD
STe0TLILI(H 5 6IT360T.

)@zt  ueBaup eumslUlL o ulCFwWwsHSIEHeT LB Owrfseledmbs Dws
CoupiLbHFHd ST (HbleTB60I.

Guomanmiul nBmIFeT 6hd Gomflenwitt umpsl efleulld s amen ?

a. el Guomplseit b. ured Gomy

c. Ugmdme Guomgd d. Fwevdms Gomf

Assertion (A): Karikala Cholan was distinguished as “Ponnikku Karai Kanda
Bhoopathi”

Reason (R): The stone construction named Kallanai, a masterpiece in Water
Management fitted with water canals was constructed by
karikalan.
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100.

101.

a. (A) is true, but (R) is false.

b. Both (A) & (R) are true, and (R) is the correct explanation of (A).

c. (A) and (R) are true

d. (A) is false, but (R) is true.

aBp  (A):  ‘OutaieisGHd sy  dewi  WuFH’  eer  sfsmed BT

FBliéslLBSmTe.

amenid (R): mevg OpPuBSHHID  UTUISHTEOHEMTEL SMENISGSLILLL  HmevF BhHD
SMBBL_BHLOTEIOTHIU H606VNeNT SHiflBTELaITEL &L L UL L G|

a. (A) sl syemmed (R) seum

b. (A) wipid (R) @yewign afl. Gweud (R) ereiiug (A) elBed sflwrer alensslon@Lb.

c. (A) wppid (R) SyemiGd Heum

d. (A) seup syemed (R) &l

What is the second line of the verse from Purananooru that begins as follows?
“Yadhum Oore Yavarum Kelir”

(The world is my Country, all countrymen my kindred)

a. “Theethum Nandrum Pirar Thara Varaa” (Boon or Bane does not come
from others)

b. “Undi Koduthor Uyir Koduthore!” ( One who feeds gives life)

c. “Unbadhu Naazhi, Uduppana Irande” (For eating a measure, for dressing just
two)

d. “Thuippom enine thappuna palave” (If savored alone, much is lost)

“wrigid  oa@y  wmeumd  CaellT” —  eeidh OFHTLRIGD LUBHTEOIBHIL LT 6060

BTewiLTalghl Sig 61517

a. HFID HeIBId LIBTSHT eumym

b. 2 ewig Qa1GHBHTT o ulT QETGHBHTE)

C. 2 ewilg BT o (Bliuer @yeniGL

d.auniGumbd erelGer BHrijer LievGe

The message related in the Purananooru verse

“Yaanai pukka pulam pola,

Thanum unnan; ulagamum kedume....”

(As the elephant destroys the field, so does the king’s taxes does not benefit
himself and destroys the world)

1. Tax abolition

2. Reduction of Tax

3. Regulating Tax Collection Methodology

4. Tax Evasion
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103.

104.

105.

a.1Only b.2and3 Only c.1and 2 Only d. 3 Only

“wremedt s Levld Gumev

SHTDID o _ewienlmell; 2 60&(IPD GBI’ — eIl UBBT@IBHIL UTL60 2 6wolTHhHID
B([HSS

1. aufleww @UISHH60

2. eufld@emmLiL

3. aufl UGBS (PemBenW! @QUPEIGLBHSHHIH6L
4. eufl euiliy

a.Tw G b. 2 wBmid 3wl Gid c. 1 ioBmnb 2 " Bid d. 3 o @Gib

Which is the Grammatical Literature pioneered by “Tholkappiyam”?

a. Thirukkural b. Moodurai ¢. Nannool d. Neethi Venbaa
CaTeLSTINWSIH T aUPBTe0TE alleNhIGD E60sHEH6mI [HIT6D 61517
a. HmB&HMmeit b. eogieny C. [HEITE)ITED d. v8 Geuewrum

(i) Dharma, Atharma, Kaama and Moksha are the four fold classification of India
Philosophy.

(ii) Tholkappiyam and Sangam literature speak only the first three.

Which of the above statement/s is/are correct?

a. (i) Only b. (ii) Only c. (i) and (ii) d. None of the above

(i) &mow, SST0D, &Mow, CUI FD 6B HISIE oalmd UTGUTL L  ShHuwid
SHHBIUMIHET GHMILILN(BHE5 113601,

(il) OzTeL&ETULIWLD BEID FEIG BEVSGHUIBIGET (PHeL CLPIB  eUnBHM6N oL BHOLD

GBILIG& SImen.
GoBaTamid FmBpiseiey Flwmeard eweu 6% eTeneu?
a. (i) L Gw b. (ii) wL G c. (i) wpmid (i)  d. CoBHEWIL sTeMeULID D66V

During the Sangam age, “Hero Stones” were erected to commemorate the
honorable death of Heroes. In order to protect which one of the following, these
heroes gave up their lives while fighting enemies?

a. Horses b. Clothes & Jewels  c.Cattle d. Weapons

FhH HT0HH6L eleuBemBL LendaullL O(hhg STEHGW (PpwBdluled FEULBG 2 ulT bHH
AlTHEHHG “BHBSBSHET  HLLILIL L 6517

a. GHemIHe6iT b. oL SLITeIRIG6IT

C. BTGUHEML BH6IT d. ey mmisei

In the Sangam age, Kotravai was worshipped as a Goddess by those who
inhabited:

a. Mountain region ~ b. Forestland  c. Crop Land d. Dry land
FMhIH HTVHH60 OBHTHBBeNal 6D GGHuleushdHlenet euPul CLT euTbbg BleolILIFUIL:
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107.

108.

a. GMlehd b. (psvemev C. LD(HBID d.umenev

Which of the following movement urged its members to give up their caste
surnames?
a. Pure Tamil movement b. Self-Respect movement

€. Quit India movement d. Bakthi movement

BHIPSHHTEID  61hH BUISHD ST 2 BIIINQITHmeNT  SHhHend rauller  CLuley
SHRIH6IT GUUIHL 6T DNeNIHSH DIMPHSGHLD PSBHMBHH MBI el BISHSH WIS ?

a. alld SO Buisbsld b. swioflwrens Suidbasid

C. GaueTenemuiBear GCouaGumI @uidbaid d. usgd Buissid

Role of Tamil Nadu in Freedom Struggle

Who was the founder of the “Madras Native Association” which was one of the
tirst attempts to organize and vent grievances against the British?

a. Gajula Lakshminarasu b. Singaravelu

c. T. M.Nair d. Potti Sriramulu

SRBCOWTHEHHG  IHTTE  DHBEMET  Q(HRIBMNISHEH, HRIBENH  (GHDBHEN6N
aBSHHMIILSBEG CBosTeTeniul L  (pHe0 WwBH Herlled @aipTer ‘CFerenereurd] e
FRIBLD’ eTID DIENLOLILTeN6T © (hauThSIWaUT UWImT?

a. segreom el &OBIE b, ABiemyGaig)  C. 19.6T1D.BTWIT d. Qum’ig fymogy

G. Subramniam was one of the first leaders to use newspapers to spread the
nationalist message across a larger audience.

Which was the English newspaper founded by him?

a. The Mail b. The Indian Express

c. The Hindu d. The Madras Courier

Cxrdweaunss OCauigasmen alfibamul L uTTeeuwmeniseienL G uFliyeny OQFUIuSHBE
(PSP FH6VI6D CFUIHSHBHTETHM6NL LweTUBSHSH W HEMEVTTH S & BLDHFHEUT
. aUgwenluwb SLeuTT.  SeugTed BHmleulill L GFUISHSHSHTeT 6157

a. & Guiev b. & BbHuier e1dberoLlyerd c.d @ba d. & Gl gmerd
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109.

110.

111.

Archaeological discoveries

Match correctly the excavated things with their corresponding excavation sites.

A. Golden foils 1. Thirukkampuliyur
B. “Rouletted” Potteries made in Rome 2. Aadhichanallur
C. Sun & Natural Objects 3. Vadamangal
D. Fort wall (Compound Wall) that is 3000 4. Uraiyur
years old
A B C D
a 3 4 1 2
b 2 4 1 3
C 4 2 1 3
d 1 4 3 2

&6 OBTHHSUILL([BH6iTen HewIBHLIQLILIHM6N DIHeT 2aT&HEHL 60 CGHTLTLLIHSHSHIS.

A.SBISULL L BIGH6IT 1. SFlmEBSTDLeOIULT
B. Gymomyflufled Qauiwiii’ L Gyemeol Ll eTenild

LOGUOTLITGU0TL_BIS56IT 2. SIFHFFBHEOSITT
C. @flwer BBIDd BUIBeDE 2 (HEURISH6NT 3. QUL LDMIGHED

D. 3000 ouewih®el LWwend euTUihSH SHBBIFSeUT 4. o eBULT

A B C D

o0 oW
RN W

2
3
3
2

W R R R

4
4
2
4

The graffiti symbols of Keeladi are similar to which one of the following
civilizations?

a. Sumerian civilization b. Nile River civilization

c. Indus Valley civilization d. Yellow River civilization

suiler &mevdeT @GMluibeeT LU 6bhdh BTeNahCahrtlh @UUCHTSSS gnlguiene?
a. &@uwfw prefasb b. wped B HIHMHD

c. bl Fwbeuerd HTHMBID d. wehgem BFH BHIHMBID

The carbon samples collected by the Department of Archaeology, Government of
Tamil Nadu from the excavations of Keeladi after having been analyzed indicate
that all the six samples fall between:
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112.

113.

a. 2nd century BCE and 2nd century CE

b. 6th century BCE and 34 century CE

c. 4t century BCE and 6 century CE

d. 3 century BCE and 5t century CE

s SEaumuialear Curgd SWOWDHTH SPFlear GgHTeveduwed Hlewmuwimed GFamfldbalil L
asfilo  wrgflser, u@luruie]  GFLwiLlL HeO  SeuBpler  &Tevd 61066
SBlwLLGEBSHI?

a. H.(1p BJewiLmd BHIBBIewi(B (PHev &.19. SFewILmbd HIBBTEHIH D]

b. &.0up pmb BHIBBIEHIG (WHeL &.L1. ApSIBTD BHIBBTENI(H 66

C. &.(p BHIGIHTD HIBBTENIH (WHeo &H.LI. LBTD HIBBTERIH eUED]T

d. .ap epeGIBTD HIBBTEIH (PHev &L, MHSHTD HIBBTEIH eUD]

Thirukkural
........................ are the eyes of all human beings”
In the above Thirukkural, which one of the below are identified by Thiruvalluvar
as the eyes of all human beings:

a. Virtue and wealth b. Impartiality and self-control
c. Wealth and love c. Numbers and letters
ST ulsielyewm B

HentolenrediLl eumw) (pulltebE’
GuopasTamid  HHBGHMerlled slemeu  BFewienl.  H(HEUTEHOUT HWIBEHDHEGH eLILITHS
S BISWBT?

a. 9IBUPLD  GUTHEHLD b. 5Ga] BeevenIDU|D il SHH(LPENL LD LD
C. Qum(pEmD BevTLI(LpLD C. 6T6WIEILD 6T(LDSHGHILD
“Dare to do a thing........... it is shameful to say”

As per the above Thirukkural, how should we enter an action?
a. After accumulating enormous wealth

b. After charity

c. After a mature thought

d. At an appropriate time

......... HI6WNS  S(HLOD  FHI6mNHSHLI 60T

........ oeiil H (1SS’
aeleuTml  @(h OFweled mhUL Geuswibld etedl  HHeusT@pauT GoBammpiw  Gmelev

DI BISSISBTT?
a. Hlewpwill Qumme Gaibhs LIBE) b. srend GFuIs LIBG

C. bAIBTHS FhHHSH DISBGSL LIBGE C. 558 HTLNMIHSI
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114.

115.

116.

“Speak out your speech, when once “tis past dispute That none can utter speech
that shall your speech refute”.

What does Thiruvalluvar mean by “that shall your speech”?
a. A Synonym of the word used by you.

b. A substitute word

c. A translated word for the word used by you.

d. That word of yours which cannot be won by others.
“Oameoad GFTeLemell LIBIBHTTOFTEL DIFCFTe0MEL
GlesLaIchOFTeL @etTenid DINSIHGI”

- “9IF0FTeLM60” 616l H(HEUGTEHAUT 2 TG 6160 ?

a. pREIG6T LWSLBGSHSHW Qummeled GCeuGmmm OFme.

b. Gamevenis@ IBBTE GeumiCFTed

C. bRIG6T LWeLBGSHHW CFmeoansd Caupmioomfs Ggmev

d. BBeTHeTed Geusiey (LPIPUITSH 2 BIBEHeML U CIFTeD

.................... if they fail to control it, their words will lose weight and sorrow
and grief will overwhelm them”.

In the above Thirukkural, Thiruvalluvar emphasizes the importance to
control one’s tongue. According to him, this is applicable to:
a. The Wealthy b. The poor
c. The Good human beings d. everyone
......... BTBTEBSH HTEUTESBT6L
GamamiuT GaTevellpasE Ul G’
Guopamplw  Hmd@meled HmeueTenauT HIOUL SHHmSH UBB  FapIdBIT - @UIewIL
STOU(HBGLI CLITHHSID?

a. QummeT 2 L Wel(HHE b. GummeT BCBT(HBS
C. HeVBeUT(HBE d. siemenalmEELD

“Incomings may be scant; but yet, no failure there, If in expenditure you rightly
learn to spare”.
What do you infer from the above?
a. Work hard to increase your income.
b. Though income is limited, one can live without any misery, if the
outflow is carefully managed.
c. Completely restrict the outflow regardless of your income.
d. Increase both the income and the outflow.
“ausm merallly HTulam GCHlpedemev
GuTaT M&HeLTdH HeML
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117.

118.

- CuBasTanild @meiled BmHbeH HalT Sipsleug wrg?

a. auremalll QUHHGHUSBGHS HYAIOTH 2 _mPHH GouswiHLb.

b.Qgevemais seueiors  Geomewiend  GFUIHTEL  UTR|  (GHMBAUTAITEID  slelalHs
SHISTLPLOGIS GUTLD  (LPIQULD.

C. auJe| 6IHHMBWSTUIMID CFevale GLHESHMS (LPIPMLWTHS S BHULGSHHIS.
d.augey, QFeve) @rewienLujd DHBMNHHIH CoTeren Gealemsi(BLD.

Match the following;:
AZ...... all the rest is nothing 1. Need to encounter with cheerful face
but trash to him”
B. “When trouble comes .......... 7 2. Knowing the fittest time
C. “Like the stork or crane with 3. Learning
folded........... Wings”
A B C
a. 1 2 3
b. 2 3 1
c. 3 1 2
d 3 2 1
A LOITL_606V  LOBMULIEN6Y” 1. @awpss8sth  aslitsteien  Geuerigul
SleudluiLd
B.“®®Gassem aummisTe ...... 4 2. gilwmer FhHHTUUD SBSIHEH GFweOLIBHSH60
C. “Oa1605T1H8 FnlbLID ....... X 3. &eval SHBMB6L
A B C
a. 1 2 3
b. 2 3 1
c. 3 1 2
d 3 2 1
“Touse.......... Is to make choice of unripe fruits to ripe fruits”.

In the above Thirukkural, according to Tiruvallur, which one, when spoken is
equivalent to choosing unripe to ripe fruits?

a. Truth instead of falsity

b. Rebirth instead of the current birth

c. Bitter words instead of sweet words

d. Talking about arrogance instead of humility

e nB6L

selwllmlus sTuISaTH SBBI°
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119.

120.

121.

Bs@meiled FHmausepalT ‘aTendd Fmplaud’ SalulheG CuUTEH SHTdWH SITOUSHBG
QUILTGLD 6T6aTaImmiT?

a. 2_euienloull(hé s QLTI SnpB6D

b. @i B B UBHES Faped

C. Qalwenal B(HHH DOTHH FnBeL

d. 9L sspLmws@l uHeons DL ssisemn BBl Cuaeug

(i) “What is called Truth of True word.......... ”

(ii) “External cleanliness can be had by use of ...........
Considering both the above Thirukkurals together, which one of the following
would be the most important outcome?

a. Falsehood b. Truthfulness

c. External cleanliness d. Balmeless good

(i) ‘Qumie»ouyd euTwiento UL &S ..........
(il) ‘UBHSTUIEND BITEVENLOL| OBHHTUIEDLD . .......
Beialgeni(h  GMeTdmenuild HGFT IHe0 OBTeWI(H HHBEWIL  6lHH  @lenere
H&bHD (PHBHUSHIHIOID 2 6TeNHTHd HHAHINTT?

a. GumuienLo b. euruienio C. uppgmuienw  d. yenySihd HeTenio

Which one of the following is not the attribute of Thirukkural?
a. Secular nature

b. Compassion

c. Inclusive thinking

d. Naming some kings and prasing their individual valour.
LeiTeumeueiouBmien SHl(hdb@Gmaied Beveord SuledL| 61gI7?

a. LDHFFTLIEITEmLD

b.@ysdasb

C. SIMUHMBHUID 266 SBHUl FHFHeneot

d.flev wetaTseien QUuUTBmeTdS  GUILIGaHID, SaTseiear Sliul L  aifHmall
LIGNBFTHBHIGUSILD.

“All men that live are one in circumstances of birth; ......... ” According to the
above Thirukkural, differences among the individuals in a society are due to:

(i) Quality of their actions.

(ii) Amount of wealth possessed by their kith and kin.

a. (i) Only b. (ii) only

c. Both (i) and (ii) d. None of the above

Gomanmiwl  SHHB@melaT LY @ FUPSTWSHHD Hell 16T HTH eSS enL Guiuimest
GouBmIenNLDSEGHEe STTEIOTS G (BLILIS:
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122.

123.

1. OlalTHEHmLU OFwIeOHeer HID

ii. 9eTseler o palamseflld EHEGD CFe0aSHHET D66

a. (i) (B b. (ii) oL (b

c. (i) b (ii) d. GuBsTamid eemeauLD SI606V

What is the importance of Thirukkural as a secular literature?
a. Being secular, its values are not just confined to any particular religion and
it is applicable to the entire humanity.
b. Its focus on human welfare.
c. Reading Thirukkural strengthened the secular vision of the founding

fathers of our nation.

d. All the above
DSHEFFTTUBMB QeHHUID 61D eUenBUTL H(HBGHMeMeT (LPHBWSHSHIOID WG ?
a. by @H GOIIILL 105 WLHUT YBSTET  EEVSHSHUIOTED  B6060TH  LOTEIL LD
(PYMLWSHGLD QUTHHHID HellHHIaLD.
b. TEni Bevemern (WETHBIGHHID HellSHHIaID
C. HmIGMeT eurdlliy [ HILML  FSLLMDSHS HeWeVaUTHeT6 OHF  FTTUBM
SHEEMLOENU!  IeVMLOLILIBSHHUIGSI.
d. GBI SiMaTHSHID

Why is Thirukkural relevant even today?

(i) Because, the basic Human nature has not changed much.

(ii) Because, Thirukkural does not focus on specific issues but speaks about the

general ideas related to Human existence.

(iii) Because, Thiruvalluvar had anticipated the changing needs of modern

society.

a. (i) Only b. (ii) and (iii) Only

c. (iii) Only d. (i) and (ii) Only

H(HBSMET 6IHAMD @AbHdH BHTeLHBL L SHHBGWD CUTHSHHIOTH 266N

1. gOerefled, SigliemL algh @uleol] GLHLTATIE WTBBLD DML WIaT606M6V.

1. gOeialed, Hmb@mer @PUILL FevouBpledo wWLGOL Heueand OCFNIGHSHTLOED,
el &HTHellent Uiy uBPul QUTHIOTET H(HHHIHMNS GHBHHID CUHHBSI.

1.  gOeefed, HmeusTepeuT  Haler  FpHTWHHe  ISleurmHDd  CHemeusemer

WP&ITFnL 198U UL B SH S (HHSHTIT.

a. (i) G b. (ii) wmb (iii) o Gib
c. (iii) L (Bib d. (i) wmpib (ii) L B
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124.

125.

126.

127.

128.

129.

Others

Who formed the “United Nationalist Party”?

a. Poppili b. Subbarayar c. Natesan d. M.C.Raja
‘WementOLL. Gpraaeredevl. sl d’ ewwld CHmmmialdheHeuT wimt?
a. Qumniel b. a&lugmui c. G Feurit d. enb.&.ymegr

The original name of Oomaithurai was:

a. Kumarasamy b. Kattathurai

c. Meenatchi Sundaram d. Vellaya Thevan
oaenLDGHHIeNTUIET SWIBELIWIT 61g)?

a. @GLmy&FTLo b. &L L Saiemy

C. el & &HbHSBTID d. Geuetenenuid BHeuest

Which place was closely associated with the “Black Hole Tragedy” of Madras?

a. Alipuram b. Mamllapuram

c. Tiruppur d. Mallapuram

‘Oratener QL LBS HWT HHEFAUL T OBHTLTLDL W S 1D 6157
a. &1edyJid b. wmosdevL|TID C. HmLiyT d. wevevLyyID

The Palayakkarar system was originally practiced in which of the following
kingdoms?

a. Vijayanagar b. Bhamini c. Kakatiya d. Hoysala
LITeD6ITUIETIIT (LPeOMB (LPSH6IT (PpSH60I6L 6TaU(THEmL LI S Fliu@dHued
CFweOLIHSHSHILILL HI?

a.01WIBST b. umfief C. BTHSHWIT d. Qamruigmenit

Which of the following fournal was not founded by Thanthai Periyar?

a. Kudi Arasu  b. Puratchi c. Viduthalai d. Swarajya
SPHBTEID BHTeNFHLDHaM60 HHewd OUNWTITED HUSSIULTSH BHrels 61gH?
a.GIQUI & b. yy &l C. alBHem6v d. swyreguib

Who is known as the “Political Guru” of Kamaraj?

a. Gopalakrishna Gokhale b. Mahatma Gandhi
c. Rajagopalachari d. Sathyamoorthy
sTogregfler “odluisd G~ el SIBwiu@GUeuT wimT?
a. CGamumevalmagent GsrsGev b. warHoT HMHI)
. @yme@asmumeordam d. #58wiepis s
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130.

131.

132.

133.

Which is the original name of Marai Malai Adigal?

a. Swami Dayananda b. Swami Vedhachalam
c. Swami Paramananda d. None of the above
LOEMMBLOEN6Y  HI9H6ITI6 SUIBOILILIT 6T6drenT?

a. seumll  SWTEIHST b. seumd GeugmFFeold

C. &UMOl LIFLOTEIHST d. Bausefled erauHLOOmED

Perarignar Anna Chose Justice Party to work for:
(i) Casteless society

(ii) Classless Society

(iii) Casteless and classless society

(iv)Class based society

a. (i) Only b. (i) and (iv) only c. (iii) Only d. (iv) Only
CurleprT Sjewienim HHS S Feww 6bFHL LenldbsTss CHibOSBHHTT?

1. FTHUBB FUPSHTUILD DIeNIDSHD

1. auTds CUIHLBB FUPSTUILD SHIENLDSHS

1. grdwmps, eafdsd CUFHLMB FUPHTUILD DIEVIDSHH

V. aIf$aHMmS SlQLILIDLWTSS OBTewL FUPSHTUID DIDLOSHD

a. (i) L Gw b. (i) wBpId (iv) WL GLo c. (iii) o (BLb d. (iv) w G

Which of the following were the policies and principles of perarignar Anna?

(i) Religion and Politics should not mix.

(ii) Privatizing education and health sectors.

(iii) Public ownership of transport systems in Tamil Nadu.

a. (i) Only b. (ii) and (iii) Only  c. (iii) Only d. (i) and (iii) Only
S1pHeniLemeudbelled GuInslehT ojewieniTallel GBTeTensd WBBID CHTLTHSHT WiTeneu?
1. gowupd Qfweld aCmr(h @EIN HeVHHDH nl M.

1. Hevall LOBEID SFHTHTTHBHIMBHEN6N  HEOTWITT LOUILDTEEG)SH60.

il. sOPHET e CUTHGAITHSHIH SHIDBENUI ST FHENL DLOUITEHEFH60.

a. (i) G b. (ii) wmb (iii) ' Gd c. (iii) i G d. (i) b (iii) ' Gib

Which of the following is/are not the work/s of Perarignar Anna?

(i) Velaikkari (ii) Neethi Devan Mayakkam
(iii) Kannan Paattu (iv) Kudumba Vilakku
a. (i) Only b. (ii) Only
c. (i) and (ii) Only d. (iii) and (iv) Only
S auHeuaTeUBmIeT eTener CUIBEhT SiewieniTale LenLLL|H6T Hi6060?
(1) Gouemevdsammfl (i) b8 Gmpeuedt LOWIEGHSLD
(iii) semremrest LITL (B (iv) ®bwu alenss
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134.

135.

a. (i) (G b. (ii) oL (b
c. (i) b (ii) wL_GLD d. (iii) @b (iv) LG

What are the similarities between Thanthai Periyar and Socrates?
(i) Asking and answering questions to stimulate critical thinking.

(ii) Purpose of dialogues is to expose underlying assumptions.
iii) Accepted hero worship
iv)

(iii
(iv) Accepted that solutions to problems cannot be identified by discussions

a. (i) and (ii) Only b. (iii) and (iv) Only
c. (i) and (iv) Only d. (ii) and (iii) Only
Quiflwrit, gréIlleed SHu QHaUHBGHD el CuiiTeT QBBIHIOHET WITene?
1) Gmzealser Gzl (B ealewLstew uer eutuieors  aloifger fglufeomeot
FbHmeTenUld HITERIQGITTTEH6IT.
1)  &6UhSBIEMTUITL 668 GpTa LD SIGILDT6IHIGH 61768 o | HLHnBHBHEM6N
ORIRIEINEENaRIE

1)  prws eufum’enl gBmIs6SHTemEIL TTH6NT.

1v)  eleurgdliugdler eumuileonsll LIJFFORNBEDEHSHH &Ta] STewT (LPIQUITSH  6TSILINS
JIMmIS OBTEwILMTTEH6T.

a. (i) ommid (ii) oL B b. (iii) wmmib (iv) oL B

c. (1) wmmid (iv) L Bw d. (ii) b (iii) o Bib

Which is the best example of rationalist thinking?
A Person suffering from Jaundice has yellow coloured eyes:
a. Therefore, any food item that is yellow in colour should not be consumed.
b. Wearing yellow colour dress aggravates the effects of jaundice.
c. Jaundice can be reduced by adorning yellow coloured flowers.
d. jaundice is a disease which can only be treated by identifying the cause.
It has no relevance to the colour of the food consumed, colour of the
dress and flower one adorns.

UGSSBNF FbHmas@GHs Fnwmer bSHHHHT B 6157
QHOUT LDEHF6T HTLOTEN6VWIT6D LITSHSSUILL (B LDEhF6T BB D60 EHL 65T 2 6ITeNTT.

a. OIAUT DEHF6T HIBHIH6L © 6iTeN 61HFH 2 _6WIMAIU|D 2 I OFHTeiTeNnd Fnl MH.

b. st wEhFer BB emLdul Seileug wehder sromeme Gpmulet afflwibmss
SITeuo1(HLD.

C. EhFeT MBI USImeNF Gheud LehdFel SmoTened  Grpmuier  Hetenoamuld
GHMBBGLD.

d. wehgFer smoTENEL et CHTUISHTET  HTTMIHMBE S BlbHTe0 10U (HGW
GEMIOTHHS Fnlgul @ GCoHTUl. o ewialledl BB, 2 L ule BB, GO UdHHeier
BB SwBBBGL DHCHETUISGWD abhHalsHsd CHTLTLLOe0meL.
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136.

137.

138.

A person with self-respect will have the following attributes:
(i) Will be a good team leader empathizing with other team members.
(ii) Will be prone to finding fault with others rather than looking into one’s own
problems.
(iii) Will believe in the inevitability of social hierarchy.
(iv) Will condone other’s mistakes and give an opportunity to learn.
a. (i) and (iv) Only b. (i) and (ii) Only
c. (ii) and (iii) Only d. (i), (ii) and (iii) Only
GWIDfWmend 2 LW elSHT SHDoHH6mIL LIewILSemeTt] GLmslmLLImT.
i) ouwelesr BB o prnlamseiar o eTaGmeT SBHEH GFweLBD FBbHs
G(LSHSHEMEVRTTS  EHLILITIT.
(i) oso@EN W HUBIBMTH GNHH  SLTTWTO  OBBEITHNST  HoUBISHEN6TH
SHTENILHE0 SLTOUD OBTENIQHLILITT.
(i) swsTW LYHMmevHeT HalThs EUICOTHME 616 [HLOLITTS @) HLILITT.
(iv) wpBeTseflesr SHeoupisemer ARISHDH, DlauTHeT SeuBpfed  SHHH  LUTLLD
BHBMISOBTEITEN  euULleGHLILITT.
a. (i) wBpId (iv) WL G b. (i) b (ii) oL Bib
c. (ii) wbmpib (iii) ' Gib d. (i), (ii) wBmpid (iii) w GLd

Which are the characteristics of a person with self-respect?

(i) Such a person will be with positive self-esteem and will facilitate meaningful

social existence.

(ii) Such a person will promote free expression of creative ideas.

(iii) Such a person will treat others with dignity.

(iv) Such a person will have a superior feeling about oneself.

a. (i) Only b. (i) and (ii) Only c. (iv) Only d. (i), (ii) and (iii) Only

gGuioflwmenguleiien o6 HifledT  LIewTL|H6eV6ITSH6NT WiTeney?

i) obsmasw BUT GHTDMBWITET HEOSH ML  CLIBBICTOTITEAID, DITHH(LP6IT6NT

gFelpd UTPalenel 2 (HoUTHGLATTHD G(HLUILIMTT.

(i) oBsmaW [BLIT LIemL_LILUTMBeL T3 FbHMOTHM6NS HemL_ullesrs)
GeueMliLBHIluemns 2amebGallILeUITs S HLILITT.

(ili) SIGHHBU BUT LOBBEUTHMET HTENULSBIL 68T L SHHILIIITS G HLILITT.

iv) oHHdaU  BUT LOBBeITHmeT &l  HTET 2 UIMHHEIT 618 6T6N0T60IHMmSHS

OBITEmTIQ(HUILITIT.
a. (i) G b. (i) wmb (ii) o Gib
c. (iv) L (b d. (i), (ii) pmid (iii) L G

Why did Thanthai Periyar write in “Kudiyarasu” that “Government and
National consciousness should exist only for the purpose of making the people
live with self-respect”?
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139.

140.

(i) He felt that Government or nationalism is not merely to satisfy their mean
needs of food and clothes only.

(ii) One’s self-respect never robs away other’s self-respect.

(iii) He felt that if true sense of self-respect is inculcated in people, then they will
certainly create faultless politics and peaceful nation.

a. (i) Only b. (i) and (ii) only c. (i) and (iii) Only d. All the above
“opsmhswd Chdw o awiTeyd wdsmen suwfwmmsBun®G eaumpd  OFuieuenHCu
GBTeHHIOTHD OBT6EmIY (HHD Gouemi(HLD” 6160 HHEMSH Quiflurr

“Glurg’ HLO60 66T 6I1LDSCITT?
(i) opsmsd S0z BCHFWID 6IGILGI HBEHSHTET 2 _6wiey, © enl  GUITED3
FnFHmenid BhHameaumsamen H(HUHLUBGHBHIMUSBHTE O BO DI6L6V oINS SIaUT

© _GUTTH & (HHBITT.

(ii) emeumerLw  Swiofwmems  BBaIHdLW  SFWofwmaGewll  uBlliugTs
BHBBTFI.

(iii) swwiwrens SIBHEIGML_ULI ©  GuTenLOUITEUIL] Qum(meiiled D& SHEIIL_LD

® GUITHSLILLLT60 DIQUTHET (GHMBH6T JHIOBM DTS UIENGLUID,  DIEMLDSUIT6IT
BTLMLUJD 2 (HeUTHGHeUTTHEIT 6160 2 6uliTHa (HHSTIT.

a. (i) (B b. (i) ommib (ii) oL Bib

c. (i) b (iii) w1 GLd d. BGuwBsv 2 siten SiMETHHID

Which one of the following is not the journal that carried on the effective
propaganda of self-respect ideals?

a. Kudiarasu b. Revolt c¢. Swathesa Mithran d. Viduthalai

S1pSHTamid BTGaM(BHH6e0 SFWIDflWTSHS SHhHSHHISHemen FmLiTer (Lpenpulled UTLILEn]T
Cauiwrg BTGl o1g?

a. GUIs b.yitd ¢ &B8xa105H e d. elhsmev

Which of the following is/are the correct statement/s regarding Perarignar
Anna with regard to the early days of the Dravidian movement?
(i) He understood that medium is the message.
(ii) He understood that affirmative action will lead to progress.
(iii) He used theatre and cinema as effective instruments of communication.
iv) He was a non-believer in distributive justice.
a. (i) Only b. (ii) and (iii) Only ~ c. (iv) Only d. (i), (ii) and (iii) Only
HrmalL.  QusasHH6T CHTLES  STevmEBMeT OUTBISHSLI9e0  CuIBlehT  SjeuotewrT
LB SDEETEID FnBEIseied Fhwmerg/ el 61/ elenel?
(i) e sG0 GFuId ea@UmD ST DIMBIHHHHSDTT.
(i) o @AIGHHID BLAIYHMBHT (PHICIMBHIHMBEG aIHMIGHEHGD TSNS DlGUT
DABHSH BHSIT.
(i) oEUT PHPILSD BBID HeoJ DPEGBMT HFBaUL OCHTLTSHTR  FWbHD
S(HANBEMTSLI  LILIGITLIHSHSGTTIT.
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iv) ot udibgHeiaagd BHuled BIDLIbmE CBTETENTHAIT.
b. (ii) ommib (iii) ot Bib
d. (i), (ii) wBpid (iii) w G

a. (i) (B
c. (iv) @B
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142.

143.

Unit - IX Development Administration in Tamil Nadu

Vaikunda Swamigal as a symbol of protest:

(i) Urged his followers to wear a turban, a right which was permitted only to
upper castes in those days.

(ii) Insisted on physical segregation in dining habits.

(iii) In his feeding centre called “Nizhal Tangal”, caste based restrictions were
broken down.

(iv) Stood for social segregation

a. (i) Only b. (ii) Only c. (i) and (iii) Only  d. (iv) Only

1. MAUGEUIL. FUTLOH6T 6IHTUILIGET DIeHL WITETLOTS

HHEH HTeLHHL o WiT WrHulenhdE WLEGHOL D@ILHSHSILLIQHHESH 2 MenLoulmet
SHMEOLILITeNS Dlewflalend Heiteneorll LIeTUBMILIUTHM6MUD  DI6wiWl 616U |N3I& S5 6oTTT.

11. HNSHHHNWLTS 2 _euieU(HhHID LPSHHHMS 6UedU|nISH S eTTiT.

1. ‘BIped SHTHIB6L’ 61l DIGNDSBLILL L. 2 T6)|dhdnl HIGH6eTe0 FTHUIS S HULTHSEIT
© enL SHolgmiwiiL L er.

1v. spsTW FHWTS HemILBHIHIHM0 DUSTSHSTT.

a. (i) L Gw b. (ii) L@ c. (i) wmmid (iii) wL G d. (iv) w Gw
The weekly journal “Oru Paisa Tamilan” was run by:

a. V.O. Chidambaranar b. Thanthai Periyar

c. Ayothi Thasa Pandithar d. Bharathiyar

“@b mUST SLOIPGT 6IID UMy BFHemp BL S HuleuT wmT?

a. el.e_. Hglbuyent b. sheng Quflwimit

C. OIBWTHAHTF LI HiT d. umyguwimit

Ayothithasa Pandithar:

(i) Campaigned for social Justice
(ii) Considered education as an important tool for empowerment
(iii) Started a weekly journal called ‘Kudiyarasu’.
iv) Was an ardent follower of Hindu Dharma
a. (i) Only b. (i) and (iv) Only
c. (i) and (ii) Only d. (i), (ii) and (iii) Only
SIBWTHF HTF LIS
1. gepd bHdBBTHL CUTTTIQETTIT
ii. devalenl SHIHBTTHMBL CUBIMISBHTET (PpHHWdH HHANUITHS S (HICITT.
1il. “@uurs” ea@ild el @HemID DYTIDLNISHSHTT.
1v. @hal SHToHmBHH SHalJonsll LleTLmswei.
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145.

146.

a. (i) (G b. (i) wmmib (iv) L B
c. (1) wmmid (ii) L G d. (i), (ii) mmid (iii) L G

The flagship scheme that lends special character to the Tamil Nadu model of
development is:
a. Mid - day Meal Scheme b. Special Economic Zones

c. Information Technology Parks d. Industrial Estate

SIODBHTL 96T  auemT&FAL  uTemgduiler  Fplysd  Genmbshbms  GeueliliuGsHaid  Ffw
S LTS QWLILBeIG):

a. gul 2 _ewieydh S LD b. Aplill QUIHEMTSHTT  LOEWTL 60MIG6IT

C. 5B6U60 OFHTHEOBHI LI LLBISTEDEN d. QsmPmn GuL e el

Which of the following is/are true with reference to Dr. Muthulakshmi (Reddy)

Memorial Inter-caste Marriage Assistance Scheme:

(i) There is no Income ceiling and minium educational qualification stipulated.

(ii) Either of the spouse should belong to the Scheduled Caste or Scheduled Tribe

Communities.

(iii) Either of the spouse should belong to the Forward or other community and

the other spouse should belong to the Backward classes/Most Backward Classes.

a. (i) Only b. (ii) only

c. (1), (ii) and (iii) d. None of the above

hSSHIAT (pdhalevL &l (CLlly) Hevere| g3Td OGNS SlbLoew (H6evli|d SlHLOGWILD)

B o HalHHLLID CHTLTumer Sleumd FmBmiseiey gflwmeig egil/ eteneu?

1. GOBHSULF aurbomer auFbGum, GHMBHIULF Hevald SHSHHOWT HewL W)

1i. SHLougluifled Q(HEUT UL 19U 16D G TeyTaGaur 9I606VF) LI 19U 16D
URIGQUIeTECaur S mHHe0 GeuemiBLb.

1.  sbudHwufed @malT PBULL  Sevevd BFT aIGUIamTEaD, BOMT(HEIT
LIBUGSHSLILL L 1O &He|LD IBUGSHSUIUL L UGN THALD B)H&HFH60

Beuemit(BLD.
a. (i) @ b. (ii) G
c. (i), (ii) wmmib (iii) d. GoBaewLeuBpIeT sTeneuLileensv

The importance of social harmony in economic development can be understood
by which of the following characteristics?

a.  Social harmony also means peaceful co-existence of various groups in a
society which are otherwise divided by various identities.
b.  Peaceful co-existence of various communities means that the government

can focus on initiatives related to economic development and the
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147.

expenditure towards law and order management gets reduced to that
extent.

Social harmony also ensures a peaceful investment atmosphere wherein
investors remain confident of their returns.

d.  Social harmony increases economic disparities.
a. (i) Only b. (i) and (ii) Only
c. (i), (ii) and (iii) Only d. (i) and (iv) Only

QUTHEMTHTY  eUeTTFFUled &Fepd HELEIMIBHHHN  (PSHHUISHIHIMSHMS LleTaUHD 61H
uewtsenmeo Lflhg Osmeitenm (piguib?

(i)

(i)

gFepsd  HeLeVISSBID  eleilgl  LeGaml SiemL wimenmisenmed LfbHFL G @
FepssHHar  LeCum  GUSHelel  SDMWLFHWTET  FH  UTDE|  6TILIHSHUILD
GBS LD.

UeLBauml  FPFIRIFEMET  SIMOHWITHT  FHAUTDE|  6l0TLUH D&  CUTHETTSHIT]Y
aUeTFFbaTen (LpeTORIBLILHMN60 Haualld CFIHDH (PYaumBHdH GHBHGD. B&I
9HS SalBEG FLLID QUG HiTuTeSHBHTERN  CFvalamsbamed &mBeHs
JBIUTHBS.

(WPHESLLTeNTHET  SHHIB6T  (PHeSU I9BCHMBM  auHeUTUl  HMLHGWD  6TenIld
BOLGMBMU  QUPBIGD @hH DDWHWTeT  (PHSLBF  GHLBlemevenul  Feps
BeLellemISED 2 mIg CFuIFBEI.

(iv) Feps Hevelemidbsld GUTHEMTHTTE FIDOGIEMIOMU HHBNHHBSI.
a. (i) (G b. (i) b (ii) o Gid

c. (i), (ii) ommuid (iii) oL B d. (i) wmpib (iv) L B
Match the following;:

A. Block chain backbone - 1. Online services

B. TNeGA - 2. Remote sensing Technology
C. E-Sevai - 3. Nambikkai Inaiyam
D.TN-GIS - 4. State Nodal Agency

Choose the correct option from the codes given below:

A B CcC D

a. 1 4 2 3

b. 4 3 1 2

c 3 4 1 2

d 3 4 2 1

A. Bemmss GQFulesr GuaGLimes 1. @mentauNF GFeneudbelt

B. TNeGA - 2. Bzmemev o _emiTedh OHTHGOBIL LID
C. 8-Gsema 3. BIDLHND EenETUILD

D. TN-GIS 4. (PTHIEL QHHRIBIENEILIL] (LPSHEWLD

S1psmewTLIemeUUT eV (HbS &rﬂu_lrrwr alewLemuwid BHiTh0\%H[HSHHaLD.

A B C D
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149.

150.

151.

a0 op
W W R =
NGOV
N R RN
_ NN W

Which is the objective of Arasu e-sevai centres?

a. Providing unified access to e-services of different government departments on
a common platform across the State.

b. Providing overall guidance to e-governance projects at district level.

c. Providing on-line examination services.

d. Providing residential data for Tamil Nadu.

orsF Qe alfF Csmel (D-Csemer) HBaumIBeMeT CHTHBID 6157

a. ITHlevd (Wpupeugid ueGaum SIPaS Hlmsseier Qenewiw euPF BFemeusemenuybd
RHBSMWHH PH CUTHISHNMSHIHL DIEGLD umMBUT6D  6UOMHIGSH60.

b. wreu’ L genalenten 6T SEhNEH HILBIBEHSEG Ul BT [HH60.

c.@emeniaufd CahiTeysendsTer CFameuullenst 6LDHIGHEH60.

d. s0pET pBsTar GQUNEBLLS SIEIEHE6T  GULDHIE H60.

Who took major efforts in the emergence of labour organizations in Madras

Presidency?
a. M.Thirumalachariar b. A. Singaravelar
c. Thanthai Periyar d. Maraimalai Adigal

CFSIEmeI  LOTHMTHH60 CHTH6VTNT  DIEMIOLILHEmeT 2 (HauTHGD (pwBdlseied 10&
(WPSHSHW  LkisTmsluleuT wimT?

a. 61b. &g amifluimT b. g. dmsTyGeusoit

C. HpHemd Gl d. enmioeney SjIg eIt

The philosophy of social justice is largely rooted in:

a. Natural Justice b. Moral Justice
c. Distributive Justice d. Legal Justice
gepsd  bIHdH HHFHQUD OLmenaled GeueheatnsuNmHlig):
a. ubensd BHHuled b. omib F1T BHuled
C. UBRISL B BHaHuled d. gl L gnit BHuled
Match the following;:
Social Reform Movements Reformers
A. Theosophical Society 1. Veerasalingam Pantulu
B. Self-Respect Movement 2. C. Natesanar, T.M.Nair, Thyagarayar
C. Widow Re-marriage Movement 3. Madam Blavatsky
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153.

D. Justice Movement 4. Thanthai Periyar

A B C D
a. 1 3 4 2
b. 3 4 2 1
C. 3 4 1 2
d 4 3 2 1
SLpSHHenILaBenBL CUT(HEHSHIS.
gFepsd FHHHSH BUISHBMIGH6NT FP(HHBHUTH H6IT

A.FHBwimeror. 11560 FHIGBLD 1. aiByFeimisd Libhgiev
B. swioflwrens @uissid 2. . BOLFITT, 19.6TD.BTWIT, SWITHFTUIT
C. almemal bpIoewt @uidbsld 3. LIemTeTL 6r0d  SIDEnLDUITT
D. pg Bussibd 4. FhHemg GuflwmT
A B C D
a. 1 3 4 2
b. 3 4 2 1
C. 3 4 1 2
d 4 3 2 1

The plight of the villagers and the sufferings they endure while trying to resolve
their problem of water scarcity is depicted in the Tamil movie:
a. Mahanathi b. Neerpparavai

¢. Thanneer Thanneer d. Eeram

ST 10SHH6NT  HEIB6MeT  HewiewlTl LBBTHGHmBUIITe gBUGBLD LIJFFmedEnhdH s
&ey  smeor  (WPpWIbBUTE  aHTOSTeTERD  FHwgmisemen  GCeueliiuBHHID  HLOLDS
SHlewFLILIL LD:

a. BMHH b. Biiumpene C. HewIenfT  FHeuitenfT d. myi

(i) In India, Socio-economic inequalities are well entrenched.

(ii) A law for fair distribution will automatically ensure just distribution of
resources.

(iii) Governments will have to ensure a level playing field in order to establish
justice.

a. (i) Only b. (ii) Only c. (i) and (iii) Only  d. (ii) and (iii) Only

1. @bdHwmaled Fepsll QUTHNTHTT gBBSH SHTDEH6T BHeild GCoummessluleierer.

1. pumuemer  amasuled  alenhismenll  LUdThHeldbs amBOFUILID  FL L BIHe6IT
BuwipplemGeoGuw  GuTgIoTeIG). DIFFLLMIBET  DQIGUGTRIBET  FIO  S6emaleD
uslThgelsaliLBelms 2 Big Oguiub.
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1. el HemeubTLL SienaleU(hHGHD FOaTUILL]  eUPRISLILBGINS SIS 2 n3Ig)
Qauiw Geuewr(HLb.

uemIGemenll  uslThgelliug  OsTLiurer  GuoBsewi  Fa@mpiseied  gilwmerene
6151/ eTemeu?

a. (i) wiGw b. (ii) w @G c. (i) wppd (iii) wi G d. (ii) wBpid (iii) wi G

The protection of Women from Domestic Violence Act-2005 safeguards women
from:

a. Physical abuse b. Sexual abuse

c. Economic abuse d. All the above

QUERTHEHHOBH T  GBIOL  eueli(pedmdH SHBLUYF FULD 2005  6hd  alHlome
aUeIT(LPemMB6TIeV(HHH OIS EHHEG LITHISTIL UPHIEGSBSHI?

a.2 L6 fHwimer euesT(Lpenm

b.urelwied FHwimedr euesT(en®

C. QUTHEMTHTY FHUWITET  6U6ST(LPEND

d. 8h5 cpSIm IEEHWITET 6U6T(LPeBE6Ted(HHSHID

Match the following Assistance schemes of the Government of TamilNadu with
the respective names given to each scheme:

Scheme Name
A. Marriage Assistance for poor girls 1. Annai Terasa
B. Widow re-marriage assistance 2. Muthulakshmi Ammaiyar
C. Marriage assistance for orphan girls 3. Dharmambal Ammaiyar
D. Inter-caste marriage assistance 4. Moovalur Ramamirtham
Ammaiyar
A B C D
a. 4 3 1 2
b. 2 1 3 4
c. 1 2 4 3
d 3 4 2 1

&6 OCaThHHHLILL(Beiten HOWWS DSt HHoew 2 FHaldh HLRSmeN DuBBIBG
GL LU (Beiten QuwiTaGenm(®  CUT(HHSHOLD:

SILLLD QUi

A. gmipll GLUIETSH6T  8(HLD6IT 1. oeemer GHyaT

® gHaldh S LD

B. eilgemeu opioemrs; S L b 2. WpSHHIOL &L DIDEDLOUITIT

C.o1a700mml1 QL6 EThdHHT 60

et o FHaldh H LD 3. SITDTDUTGT  SILDEDLOWITT

D. 8 1giiyg  smLoeswt 4. epaugdrmt @ITOMATHD o Haild SH LD
SILDEMLOWITIT
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The aim of the “Cradle Baby Scheme” of the government of Tamil Nadu is:
a. To promote mother-feeding

b. To ensure delivery of babies at hospitals.

c. To provide immunization to infants

d. To eradicate female infanticide

SOd Fler BT 960 GHMSHDH HI L SHler CrTesLd:

a. HTUILILUTEL 26 (heuensd 2618 EHal5SH60.

b. s aeubmaIBaisd GULHMSICUBI Habamsd o mFHeFuIHen.

C. flasaendaTar CHTUISSBLIL (PEnBHEM6T  GULDKIGHS60.

d. Quewt fgid CBTEMVBM6N LI HH60.

(i) The concept of welfare state had its origin in Western Europe after the second
World War.

(ii) The main idea of welfare state is that the government should not play any
vital role in human development.

Which of the above statements is/are true?

a. (i) Only b. (ii) Only

c. Both (i) and (ii) d. None of the above

1ID&&E6IT [0 SIJF 61D HHHSHTHBD @FewiLmb o eudsll Bummeb@Ll el GomE
CrmiuTaled gBLL L HTGLD.

11.105&6IT B0 OFFlel (PHTenDF FHhHeneT 6IellIFH DFFTRISD el  eUeTTFSUTED
111.616% @ (PSS LUBIS D BBH Tl TS 6TOILISTGSLD.

CuBsewiL gmBuiseied Fflwmeig e/ erene?

a. (i) L (G b. (ii) or (B

c. (i) wbmpibd (ii) d. GuBsemiL eiHOD Ee0enev

Assertion (A): In the contemporary society, some people are tempted
towards “Hero worship”. This is not a healthy trend.
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160.

Reason (R): Rapid Urbanization creates a sense of being rootless. This inturn
creates a longingness “to belong somewhere/to somebody”.
Therefore, some people are attracted towards the Heroes. It
induces a blind following and thereby inhibits a critical thinking
of one’s own socio-economic problems.
a. (A) is true, (R) is false.
b. Both (A) and (R) are true and (R) is the correct explanation of (A)
c. (A) is false, (R) is true
d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)
aBp  (A):  Qeeopw  FWpsTwHHed oot  “Brws  eufumien”  Crréd
FTSSILGHBTTHT. BFH @ UGyrdhslwiwTer GUTHE Si606v.
sryenid (R): o1FGus payowwrsssd Heompmsdd lalTser SHhsens GouTsemer
Bubgei’Lg  Cuten @6 2 aisloar  gHUGSSISBSI. 83!
BHHmaBL  BUTHelLD  HThseT  “‘gCha@d @b @ BLHmasCwim
pUmICWT”  FniThPH(HhHd GCouewiBHD 6IFIMB  FHBHMS GBUBHHIHMBSHI.

61601G6USHIT6I, BeuTasel L& LDOILmM LDGOTI ST & 66T CpToHa
TS BLILI(H S STBEITIT. B3 bS BILUSBTEHMET  HMICLPYSHHMILDTEL
LB BIeUem S a1 G UILIST6D, SIGUTH6IT SHMISHETHEML_ULI Felpsp,

EUIT(HEMTHITFLI LNy & & 6o b6l GBHS SHMEITUIGLI LLTGULDTE
FhFHesGD Hpewar auIepsEF CFUISBEI.

a. (A) afl syemmed (R) Heum

b. (A) wspid (R) @yewin &M, Cweid (R) eteiug (A) alBg sfwmer ellendamib.

c. (A) saup peommed (R) &

d.(A) wppib (R) s euemmed (R) ereiiuigy (A) elg sflwner alendasiosso.

Which of the following pair is correctly matched?

Scheme Chief Minister
a. Noon Meal Scheme - 1. ].Jayalalitha
b. Cradle Baby Scheme - 2. K. Kamaraj
c. Samathuvapuram - 3. C.N.Annadurai
d. Nutritious Meal Scheme - 4. M.G.Ramachandran
SLpH B auBmleT Fllwmsll QUTHSSILL (HelTem Eenewt 61517
SHILLLD (LPSHELEDLOE FT

a. Hwl o _euieydh SHLID 1. 0. OQuIevelHT

b. Qs 1960 GWHwSHSH S LD 2. &. SMOJTEY

C. FL0SHSIGIL|TLD 3. BIN.[b. S|6U01600TTHIGN]
d. sdgiemald SHiLib 4. 10.8xm. SITOEFSFHST60r

In the 1962 elections, the Dravida Munnetra Kalagam (DMK) was supported by
Swatantra Party. Who was the head of the latter party at that time?

57
Appolo Stdudy Centre: www.appolosupport.com




161.

162.

163.

a. E.V.K. Sampath b. C. Rajagopalachari

c. K. Kamaraj d. Omanthoor Ramasamy

1962-9110 Suewihsd CaHTHelaiCUTH, FHmall (WPHICaBBeE: HPEHMSH SHHHSHTTH &L 5
AFHMNHHBH. DICUTWH SFHHATTES SLFUNT HemevauJmd EHHSHeUT WmT?

a. f.0leu.8.F10Ug b. #.@yme@smumeorg e

C. &. ST d.@ubart Symogmd

Which Chief Minister introduced the Mid-day Meal scheme in imdependent
India?

a. N.T.Rama Rao b. V.S.Achuthananthan

c. M.G.Ramachandran d. K.Kamaraj

G&FHHHT AbHWmaled wHW o miedh FHLHmEH DPWPSUIUBSIH U (LPSHeVMDFFT WITT?
a. 6l601.19.@JTLOMT6M b. af.et610. &1F i HTenifhH 68t

C. 0.CHT.QITIDEFFb ST 60T d. @.smoyre

Assertion (A): Agriculture continues to be the largest employer in Tamil
Nadu.

Reason (R): Non-Agriculture sectors are yet to generate enough
employment to effect a shift of labour force.

a. (A) is true but (R) is false.

b. Both (A) and (R) are true and (R) is the correct explanation of (A)

c. (A) is false, But (R) is true

d. Both (A) and (R) are true, but (R) is not the correct explanation of (A)

gaBoI(A): slpssHed  aleusmuBo  oiFe  pUTEHERHEG — Csuemeveuruiliiene

QUPHIBIDH  OBTEwTIY(HHHMBSI.

smyewid  (R): o _enpliumeniiaseT FHhsend  Ombedsemen  THKe  CaTeTausBEd
GxhemeuLiment SlealBG GouemeveumUILIL|Bem6r leUgTUILDEVEVTS
HIMBHET 2 (HEUTHHAT606D6V.

a. (A) sl syemmed (R) seum

b. (A) wspid (R) @yewien &M, Cweid (R) eteniug (A)-alBeg sfwner alendaongLb.

c. (A) soup spemmed (R) &

d. (A) wspip (R) @yemio &f, eemed (R) eisiug (A)-aldeg gflwmer alendsiosvsv.

Which of the following pair is correctly matched?

City / Town Industry

A. Ranipet - 1. Leather

B. Namakkal - 2. Fireworks

C. Erode - 3. Poultry Farms

D. Sivakasi - 4. Power looms

BIPHHWILUBMIET 6hdh Sewent FHWMH GQUTHSSUILIL (HeiTerngl?
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166.

LOTHBID / [HBHJLD CHTHBFTENEV

A.QymemiiBu_enL - 1.8zmev

B. pmogse0 - 2.ul L&

C. rGCym® - 3.8amOIl  LIGwT6neunT & 61T
D. deugndl - 410651503

(i) Tamil Nadu is grouped among the high enrolment ratio states in respect of
school education.

(ii) This has been possible mainly due to the supply of free food, free uniforms,
free footwear, scholarship, etc.

Which of the above statements is/are true?

a. (i) Only b. (ii) Only c. Both (i) and (ii) d. None of the above

UeTelds  sevalenwll OUTBISSeumT SUODETH SiFswrer  Caismas aldHdpdHmsd
OamemiL  THleVRIS6T0 QLTS UMBLILIGSHSILL (BETNSHI.

B FTHHUDTRIHBEGSG  (PHETHIDWITRT  SHTJOTRIGNTS  SHLLEH  B6evalF o _6wie),
Beveugs  FHEMLFH6T, Bevaugd  HTeLawNBH6eT, Heval o _HalHoHTmd  CuTaIBeme
aUPRISLILGMIECEH LELD.

GoBsTent LB FamBmiseiey Fllwimeareneal e6gl/ eTene?

a. (i) L (G b. (ii) . Bw c. (i) wompib (ii) d. CuBseawiL aseb Be0ensv

As per the census 2011, which district of Tamil Nadu possesses the highest
literacy rate?

a. Chennai b. Coimbatore = c¢. Kanyakumari d. Namakkal

2011 — &oub SewlgeT  1b&H6T CFHTeandd HeidbOsBLIET L, SODBTL Q6T  6lHSH
Tl LD W& SHHITer Heval aldsHHmeHd OFHmewni(Beieng?

a. QF esTement b. Gasmuwibybant  c. saeilwngofl  d. Brndse0

“Tamil Nadu developed a commitment to universal and well-functioning public
services thanks to the power of democratic action, public reasoning and social
action”.

a. Amartya Sen and Jean Dreze b. Dutt and Sundaram

c. Raghuram Rajan and Abhijit Banerjee d. Milton Friedman

‘apTws  OFweoLThHeT UGSHIPUWD FHper, Fepsd  OFweouThHeT  LdbluieumBnsler
alemeaTsd  DleaII(HBGTHID, FBlLer GFweoLBeugiome  CUTHIFCFmaIBm6r
QUDRIGHaIH 60 HODHTH Hegh DITULHILIDL  6U6TTHSHI6TeN).’

®eleutm pslwigl wimr?

a. QIDTHHWT GFer wBpId 2361 19Gyend b.ss wBLBID HbBID
C. JGJMD JTeges BmID DIYd LmenTes d. evar LN Goest
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167.

168.

169.

The most important reason/s for the relative success of Tamil Nadu in extending
social policies lie/s in:

(i) Near universal coverage of schemes.

(ii) Populist welfarism

(iii) People’s active involvement in democratic politics.

(iv) Targeted distribution systems.

a. (i) and (ii) only b. (ii), (iii) and (iv) only

c. (i), (ii) and (iii) only d. (iv) only

gepssd Oamaimssmen alflajuBsHBluse0 QUL Lenaled SLODBTL 96T OouBmlaE W
(PSHF IS SHMTTEIDTS SHTJEOTHRIGENTS a6

(i) LSS L SienemeuenJuild 2 6oL S&idh S L BISH6H

(ii) dseanT Hevd CBTeTENSD

(iii) mepTws odweded woHseller Saly FHUTH

)
)

(iv) Bevd@ fluleomer alBHGLITE (WedBS6IT
a. (i) b (ii) Lo GLb b. (ii), (iii) LoBmid (iv) o BLb
c. (i), (ii) ommuib (iii) ot (Bib d. (iv) L (B

Which is/are the reason/s for the success of “The Tamil Nadu Model” of Public
Health?

(i) Tamil Nadu was the first state to enact a Public Health Act in 19309.

(ii) Creation of distinctive Public health System at district level

(iii) Good political commitment and leadership in Health sector.

(iv) Heavily centralized Health systems.

a. (i) and (ii) Only b. (ii) and (iii) Only

c. (iv) Only d. (i), (ii) and (iii) Only

CuTgl FHTHTHH “SODBTH WIHM uler OeuBBldEGHd STIEMILD STTEIMIS6T WITH
wimeneu?

(i) 1939 — ob Seiged OUTH SEHTHTTF FLLSHMS BUBBIL  (LPSH60  LOMHIEVLD
SIODBTE.

oTall L Sjemalled HelldHGHiauome GLUTH FHTHTT (Bl gBLBSHUISI.
GHTHH HlemBuled DIFFuled FHwimer OITILIEDINIL OBEBID HENELEMLOSHIGULD.
QufigId eWIILESHSLILL L. FHTHTT  DIEHLOLILSH6IT

a. (i) ommib (ii) oL Bib b. (ii) ommib (iii) oL B

c. (iv) L (BLb d. (i), (ii) mmid (iii) w1 G

Which of the following fact/s is/are correct?

(i) Tamil Nadu has 30.50% of its total population as urban population.

(ii) IMR in Tamil Nadu is 17 Per 1000 whereas the all India average is 34 per 1000
as on 2016.
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170.

171.

172.

(iii) Tamil Nadu has come first in the Health Index Report as per Progressive

India Report (2018) - Niti Aayog.

(iv) Tamil Nadu accounts for 10% of leather exports and 50% of leather

production in the country.

a. (i) Only b. (i) and (ii) Only

c. (ii) Only d. (iii) and (iv) Only

Hetaumd Fnpupiseied Fiwimeig/ el 61!/ eleneu?

(i) sWp BTG GCIsE WEH6T GpTmsulsd 30.50% WHSET  BSTLILBHIGEMNED
QU & & | GHTB6OTIT.

(il) 2016-Qs0 SiFev ABFW Senaled GbmBHHeNET Bmliy aldlg sgraf 1000-5
34 el @HBGWD Hlewevuled, SLDHTL 960 GLHenHHeler @mliy alsligd 1000-
5@ 17 b BBHSBI-

(iii) Py awrsdar WoGursstear @bHHW SPisms 2018 BT ssTHTy GBI (B
SNHmBUT0 HODBTH (LPH60 B HFH60 2 _6iTengl.

(iv) priger Gzmed gBpiodulsd 10% Gzmed o BuSHUTd 50%  SHLOLDBTL g6t
UBIS6TOILUTS 2 6Terng.

a. (i) (B b. (i) wmmib (ii) oL Bib

c. (ii) (b d. (iii) wBpid (iv) L (Bib

Which district of Tamil Nadu has the lowest child sex ratio according to census
20117

a. Madurai b. Theni c. Ariyalur d. Cuddalore

2011-84b SLENNYQ6H LD&H6T OFHTenHD BHewHOBHBLILIGILIY, SLODBTLIQET 61h& LOTEUL L LD
s GHwmeuTerl GWhemHL LTelel aldlsdHmapd 6amemiBeirend?

a. LDGIen] b. Gzl . flwigortT d. &Lt

The telephone number allotted for 24 hour “Women Helpline” in Tamil
Nadu for immediate and Emergency response to women affected by

violence is:

a. 108 b. 181 c. 888 d. 208

SLODBTL 960  GUETI(LPEDBWITED  LUTHSSLILBLD  Ouetisendhd 24  wewl  GBIwpd
® Laly Uy 2 SHal eupms el eaumd OCFuud  OsTemevBud o Hals
HLSHHBBTH PHIHHLILLBeiten COHTenevB@LS 61601

a. 108 b. 181 c. 888 d. 208

According to “The Sexual Harassment of Women at workplace (Prevention,
Prohibition and Redressal) act 2013”, sexual harassment includes:
(i) Physical contact
(i) Making sexually coloured remarks
(iii) Demanding sexual favours
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173.

174.

175.

(ivy Showing Pornography

a. (i) only b. (i) and (ii) only

c. (ii) and (iii) only d. All the above

UenUlL mIB6Med OLIENIBEHHEG 61HTTer  LTeduled  HOBISHH0 (HBUIL, HewL
BB STey) FLLWD  201-61 ULy  UTelwed  HIBILBIGHHE0 6D  OFTeL
o _GIT6NLSH&HIWF|:

1. 2 Lenwevd OHTHFHe0

ii. uUTED SHevbHEH MTenL LIGLFE

iii. umedwed CxHemeusenem HeBGaBMB UBLIBISHHIH6D

1v. QUUTFL LILBISm6nd ST (HHeV

a. (i) L G b. (i) wBpid (i) WL GO

c. (ii) wmmib (iii) L GLb d. GuBamplul SimIHSEID

By which amendment the Tamil Nadu Reservation Act of 1994 was included in
the 9th Schedule of the Constitution of India?

a. 76t Amendment b. 78t Amendment

c. 77t Amendment d. 79t Amendment

SOE BLHES BHF FLLD - 1994 abd Spdweomolildh HHHHHH6T  cpeold
BhHW SIFFHwevemolig FLL SHHeT QUSTAUH i L euenewiuied Gl L g)?

a.76 gl HHSSHID b. 78 eum Hmpssd

c.77 augl HmHs D d.79 eugl FHmHHId

Which of the British official is behind the award of “Panchami Lands” in the then
Madras Presidency?

a. Ash b. Tremancre  c.Robert Clive d. Arthur Cotton
SILBUTMSH W O\F6iTenaT LOTHTMISHH 60 ‘LiGhFLO HleVUMIGBMET  GULDHIGHMSBEHSH BHTT6EMNILOTH
Bmbs ULyad SieveueoT wimr?

a. OO b. L Mmeitesi C. JTUTL.  &lenerell d. eyiaT &M Les

Who among the following headed the committee established by the government
of Tamil Nadu to analyse and provide recommendations for restructuring the
Centre - State relations?

a. Dr. A. Lakshmanasamy b. Justice P.V. Rajamannar

c. Dr. P. Chandra Reddy d. Justice R.S.Sarkaria
SpsTenlILBUaITHeMN60, SHOWDBTH DFF WHIHW  IOTHY 2 BeyHeled  LOTBBHISENT
Cguwieugl OaTLTUTE Spuie] OCFuigl, UlbHMISH6T eUPEIGL CUITMHLEB DIDWHS
GWAIBG HMeVENLD SHTHISIWIGUT WITT?

a. (MR  6].60NIDCITFTLO b. pHwiga .al. gregoesTewT
C. (peva&teuT LN.FHAHTT GFLig d.pPwyat syt.ererd. Frdamium
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176.

177.

178.

UNIT - X
GENERAL MENTAL ABILITY & APTITUDE

If P denotes +, Q denotes -, R denotes X and S denotes +, which of the following
statement is correct

a. 36R458Q7P4=10 b. 16R12P4957Q9=200

c. 32S8R9 = 160Q12R12 d. 8R8P8S8Q8=57

P eiasiugl +, Q ereiugl -, R etemugy X woBmid S eteiugl, +, elafled S1DoHaH6miLaumsled 615
gflwmer Famm1?

a. 36R4S8Q7P4=10 b. 16R12P4957Q9=200
c. 32S8R9 = 160Q12R12 d. 8R8P8S8Q8=57
Explanation:
8x8+ 8_ 8

8
64+1-8="57

A clock seen on a mirror shows quarter to three. What is the correct time shown

by the Clock?
a. 8 hours 15 minutes b. 9 hours 12 minutes
c. 8 hours 17 minutes d. 9 hours 15 minutes

Qb SYSTID  Hewienimiguled uTTeHGD Gumgl Gmrybd 3 wewl e 15 BHIOLBIS6N
® oiteNigl 6lenldh ST (HFMGH 6lelled HlgHTTHHlen giflwimenr CpyLd?

a. 8 wewfl 15 MolL_miselt b. 9 wewf 12 Hidl_wisbeir
c. 8 wemfl 17 HiflL_miseit d. 9 wewfl 15 BIolL_Fise
Explanation:

12:00-2:45=9:15

or

11.60-2.45=9.15
Thus,the actual time will be 9:15.

If the volume of a cube is 1000 cu.cm, then find its surface area?

a. 100 Sq.cm b. 400 Sq.cm c. 500 Sq.cm d. 600 Sq.cm

RH BINFHTSHHET BT Sleey 1000 &H.0&.16. eelled SIFHeiT LBLILTLIL NN  BHT6uTH ?
a. 100 #.67.65 b. 400 5.05.15 c. 500 #.05.18 d. 600 .05.15
Explanation:
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179.

180.

181.

182.

a’=10° = a=10cm
TSA 6xa’ =6x10%? = 600cm?

A book contains 120 pages. Each page has 35 lines. How many pages will the
book contain if every page has 24 lines per page?
a. 170 Pages b. 180 Pages c. 175 Pages d. 185 Pages
6lOeuT(h USSHIeID 35 eufldmend OHTewIL LHHBHHe COTHH LSHBHIS6T 120
aafled  @alIleuTH USSHHMID 24 afldenmas SHbIHT0  DIUSHHBHIE CTSHSL
LIS BMIBET 618HSHMIULITS G (HEEGLD?
a. 170 ussmset  b. 180 ussmser c. 175 ussmsst  d. 185 ubsmiser
Explanation:

120x35

No.of pages required = =175pages

12 men can complete a work in 36 days. In how many days will 18 men finish

the same work?

a. 16 b. 24 c. 26 d. 54

12 g &6l e Gousmevenws 36 B Heiled Gz (pyssleament. I8 Geumevenul
18 U H6iT 61GHHemer BI6lHeriled QFUIH (LIQUILITTSH6NT?

a. 16 b. 24 c. 26 d. 54

Explanation:

M,xD,=M,xD,

D, :12><36

= 24days

The product of two numbers is 432 and their LCM and HCF are 72 and 6
respectively. If one of the numbers is 24, then find the other number?

a. 16 b. 18 c.22 d. 36

B erewiderlelt  QUHBBMBLeVET 432  BEID  Slweusener 10.8.0. BBID  10.CUT.6l.
wpempBuw 72 1oB@ID 6 HSLD. OleIGeueTTHeMN60 @ 66wl 24 eTedlled  LOBOBT(H
CTCRTENEMIE  SHT6NIH?

a. 16 b. 18 c.22 d. 36

Explanation:

LCMxHCF  72x6 _
Given Number 24

Other Number= 18

Find the total amount if 15% of it is Rs. 30007
a. Rs.18,000 b. Rs. 20,000 c. Rs. 21,000 d. Rs. 25, 000
Qm OsTensuier 15% ereg 05.3000 eafed DIHOHTMBMUIS HTewH?
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183.

184.

185.

a. 5.18,000 b. . 20,000 c. em. 21,000 d. ap. 25, 000
Explanation:

Let, Number be x.

X><E =3000 = x=20,000
100

In a class, 40% of students are boys. 60% of girls are rank holders. 40% of
students are rank holders. Find the number of boys with rank, if class strength is
50?

a.2 b. 4 c.6 d.8

Qb a@lied 40% Gui wrewieuTdem 60% TewialdeT HID CUBBEITHET. CLOTHS
ometed,  LoTealwideiley  40% Sy GQUBBEITHEI. aGUler  OLoTsHE  LomeuTel,

LoTeTaIWITHe6  6TewTenlldbend S0  66dlled, SHJD  OUMM  LOTERTEUTHEN 6T 6160016001 5H6MD
616016017

a.?2 b. 4 c.6 d.8

Explanation:

No.of Boys = SOX% _ 20 No.of Girls = 50 - 20 = 30
No.of Rank holders in the class = SOx% =20

No.of Rank holders (Girls) = 30x % =18

No.of Rank holders (Boys) =20 -18 =2

Arun drives 120 miles at 60 miles/hr and then drives the next 120 miles at 40
miles/hr. What is his average speed for the entire trip?

a.42 b. 48 c. 50 d. 54

SI(HEWT  TEHTLIIT @h AUTHAIHMSB 60 MID60H6IT/ ewll 61dB Gausdhded 120 MDOHE
U BAmrT.  etenm 40  enipevsei/ oewll  aiaiB  GaussHe0  DIBHSH 120 IDGOSHE
L GHBTT etefled GTHHHHe0 Dleugd Fynam GCeusld eTeitenr?

a.42 b. 48 c. 50 d. 54
Explanation:
Average Speed= 2xy = 26040 =48mph

X+y 100

In a flower garden, there are 23 rose plants in the first row, 21 in the second row,
19 in the third row and so on. There are 5 rose plants in the last row. How many
rows are there in the flower garden?

a. 12 rows b. 10 rows c. 11 rows d. 13 rows
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R UbCaHT LSHHe0 (pHev auflenguiled 23 Crrmnd OFiser, @FewiLmbd euflenguled 21
Grregng GFgselt, cpeipmd euflenguied 19 Cymeyms OFIgH6lT 6lel o OHTLT euflens
SIMIDLILTG0 2 6iTeIT6oT. sl dl  auflemgulsd 5 Curmnd  OQFgser  Sapliler
SILLHCHTL L HF60 61HHema aUflengsHelT 2 6iTement?

a. 12 aflewaser  b. 10 euflewgasst  c. 11 auflengseit  d. 13 suflenssei

Solution Let n be the number of rows 1n the flower garden .

The number of rose plants in the 1%, 22 3% ... pn™ rows are 23,21, 19,:--.5

respectively.

Now, ¢ —t _,=-—2 for k=2,:,n.
Thus, the sequence 23,21, 19, ---,5 1smanA.P.
Wehave a=23, d=-2,and [=5.
_l—a _5-23 -
n p + 1 — +1 =10.

So. there are 10 rows in the flower garden.

186. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value

of x?
a. 35 b. 36 c.25 d. 26
18, 41, x, 36, 31, 24, 37, 35, 27, 36 @auplent gymafl 31 elefled X QST DFHIL] 6T6sT601?
a. 35 b. 36 c.25 d. 26
Explanation:
18+41+x+36+31+24+37+35+27+36
Average = 10 =31
285+ x =310

X=310-285=25

187.  Which one of the following numbers is exactly divisible by 11?

a. 235641 b. 245642 c. 315624 d. 415624
BHIPHHeWIL 6lewibeed 11 o0 WBHulens euGuBLD 616w 6117

a. 235641 b. 245642 c. 315624 d. 415624
Explanation:

(4+5+2)-(1+6+3)=1,not divisible by 11.
2+6+4)-(4+5+2)=1, not divisible by 11.
(4+6+1)-(2+5+3)=1, not divisible by 11.
(4+6+1)-(2+5+4)=0,So0,415624 is divisible by 11.
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188.  What is unit digit in the product 784x618x917x463?

a. 6 b.2 c.4 d.8

784x618x917x463 61603 QLI(hEH60H6MM6D QEBTAIH Ee0VHHID 6160160
a.6 b.2 c.4 d.8

Explanation:

Unit digit in the given product = Unit digitin (4 x 8 x 7 x 3) = (672) =2

189. Find the compound interest on Rs.1,000 at the rate of 10% per annum for 18
months when interest is compounded half-yearly?
a. Rs.157.62 b. Rs.157.63 c. Rs.157.61 d. Rs.157.60
SIDIWTHIHEESG @H (WD eIl ly SIFIL 6T CFTHeLILLLT . 1000-5bE Seu[H ULy
ais 10% eaisliug, 18 WISHSEHEGHS (B QILly SHTND?
a. 5.157.62 b. .157.63 c. a5.157.61 d. m.157.60
Solution
Here, P =% 1000, » = 10% per annum

18 3 i
and » = 18 months = 17 years = 5 years = IS years
1

. Amount after 18 months = P[l +7(—l (')'() )J

- 110 yp=
1000[1 + (155

10 V
= 1000 (1 +57)

3

= 1000 (57)

(S | g

_ 21 21 _ 21
= 1000X55 X5 %50
= Z1157.625
= T 1157.63

C.L = A-P

= 1157.63 — 1000 =X 157.63

190. If the rate of Compound interest is 12% per year and compound interest is
calculated every 3 months, then what is the total amount after 9 months when
the deposited amount is one lakh?

a. Rs. 1,09,000.00 b. Rs. 1,09,060.00
c. Rs. 1,09,060.30 d. Rs. 1,09,272.70
wLB el eipd Qmbse 12% dap  ealgdHde 3 IBHHBG @®; (o
SHISHILLILGBLD 6lefled e(h 60LF epUTUI OQFaSSLIULL e 9 s HPHH OLOTSHS
CHTenE  6T6166NT6Y?
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191.

192.

193.

a. en. 1,09,000.00 b. ep. 1,09,060.00
c. ap. 1,09,060.30 d. em. 1,09,272.70

Explanation:
E = E =3%p.a
4 4
103 103 103

1,00,000 x — x —x =1,09,272.7
100 100 100

If A:B=4:6, B:C=18:5, Find the ratio of A:B:C?
A:B=4:6, B:C=18:5, atavilovo A:B:Cufleir ala@ssHmaHd Smemnis?

a.12:18:5 b. 12:5:18 c.18:12:5 d. 5:18:12
Explanation:
A B C
4 x3 6 x3
18 5
12 18 ; 5

How many numbers are there between 200 and 400 which are exactly divisible
by 3,5 and 67
a.8 b. 9 c.7 d.6
200-@b  400-&0 @ewLCuiujeien Buied eTewideiled 3,5 WBWID 6 Sl CPGITH
oTewTBemeNss Oadmeni(h Hulens eU@GLBLD 6I6ITH6T 615 36m60 !
a.8 b. 9 c.7 d.6
Explanation:
LCM of (3, 5, 6) = 30
a=210 last term(1) = 390

(l - a} 390-210
n=——|+1= +1

d 30

:@+1=6+1:7
30

In a class of 80 students, 65% are boys. Find the number of girls?

a. 35 b. 28 c. 52 d. 38
80 Guim O&mewi auGliuempuisd 65% BuT SyevideT eailed GLIETTEMNGT  6TamTeNTHm®
615 FHN60T ?
a. 35 b. 28 c. 52 d. 38
Explanation:
No.of Girls = 80x > — 28
100
68
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194.

195.

196.

197.

Choose the best alternative of white: Peace :: Red: ?

a. Roses b. Heart c. Violence d. Danger
WaF gflwner @etemssd CHTHOHBHFH OCUTHHHIH:

OleusiTemer: Simog : : Seuliy : ?

a. Gymregw b.®@suwid C. QUGT(LPEMB d. eumuid
Explanation:

Rs.120 is divided among A, B and C such that A’s share is Rs.20 more than B’s
and Rs.20 less than C’s. What is B’s share?

a. Rs. 10 b. Rs.15 c. Rs. 20 d. Rs. 25

A, B wopmib C eeip clpedim HUTH6T 5120 — 9 udibg CamerepoCurg, A-er
uB@ B-e1 ubmsall @p.20 EmBpeorsald, C-ar uBlmEaIL  hH.20 (GHMBeUTH|LD
B mHHHTe0 B-ai1 LM eT6le66y?

a. . 10 b. .15 c. em. 20 d. ap. 25

Explanation:

Let C = x. Then A = (x—20) and B = (x—40).

X + x -20 + x - 40 = 120 or x=60.

A:B:C =40:20:60 = 2 :1 :3.

B's share = Rs. 120%(1/6) = Rs. 20

If the sum of two numbers is 24 and their product is 108, then find the sum of
their reciprocals?

a.2/9 b.3/7 c.5/7 d.9/2
B orewidellent FnlBHev 24 BMID DeuBpslent OLHBHBD 108 6Tealled  DI6NI0I6M6NTH6NT 65T
SN B6T6 Fn(HFHe0 HT6EIH?

a.2/9 b.3/7 c.5/7 d.9/2
Explanation:

1 1 x+y 24 2

—t— —— ===

X 'y xy 108 9

Find the rate percent per annum when a principal of Rs. 5000/ - earns a S.I of Rs.
1600 in 16 months?

a.20% b. 22% c. 18% d. 24%
.5,000 SIFVGHG 16 WIHHEIH6MED €hH.1,600 Helauly HHLHHTE0, Q) aldHHHmeHd
SHT60TH?

a.20% b. 22% c. 18% d. 24%
Explanation:
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198.

199.

s= PNR

100
. 1600 =5000x 2 x R
12 100

R 1600x12 4%
16x50

The population of a village has a constant growth of 4% every year. If its present
population is 32448. What was the population two years ago?

a. 31424 b. 28868 c. 30000 d. 31242

QMH HITSHe 10EH6T OFHTeand @G FITd @alIeuTH SeWIGD 4% dnigdh CBTeBIGL
CFe0EBH. BUICUTIPH DIFH6 LSBT OHTend 32,448 el BJewih DLewI(HBHEHHE
(P& LDSHSHETOFH TS GTETRITS EHHSH (HHGLD?

a. 31424 b. 28868 c. 30000 d. 31242

Explanation:

Two years ago population was x.

X X 10—4 X % = 32448
100 100

X :32448x§x§ = 30,000
26 26

The area of a quadrilateral is 525 sq.m. The perpendiculars from two vertices to
the diagonal are 15m and 20m. What is the length of this diagonal?
a. 25m b. 30m c. 35m d. 45m

QH BIBSISHIH ugluene] 525 F.15 o6 & 2 FFlaailed(hbal cpamevall L SHHMBE
UMTWLILIBLD QFEIGHH6T HenmiseT 1515, 2015 elefled cpemevail L Gl Hembloeitest?

a.25 18 b. 30 18 c.35 1 d.45 1§
Solution

Given: Area=525sq.m, h =15m, h, =20m
Now, we have

Area of the quadrilateral = 525 sq.m.

%xdx(hmt h) = 525
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200.

Ldx(15+20) = 525

7
Lwdax3s = 525

2
_ 525x2 _ 1050 _
d = s - 3% 30 m
.. The length of the diagonal = 30 m.

A wire can form a square of area 36 sq.cm. what is the area of rectangle when the
same wire forms a rectangle in which one side is 2 cm?

a. 12cm? b.18 cm? . 20 cm? d. 24 cm?

R SDUIWTEIEH FHIT aYaHmSH 2 (HauTdG CUTINg SiHeT ujgliuene] 36 F.0F.15.
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a.12 #.0s.18 b.18 5.605.15 c. 20 5.05.18 d. 24 5.65.6
Explanation:

area of square = 36 cm?

side?. =. 36

side = 6cm

now length of wire = perimeter of square
length of wire = 4 *6

length of wire = 24 cm

one side of rectangle = 2cm

so side opposite to it(length) = 2cm

other two sides(breadth) will be of 10 cm each
so area of rectangle = I*b

=20 cm?
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